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Question Id : 9209067689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Excise case: Court extends Sisodia’s custody till May 8
TimeNews Network

New Delhi: A special court in Delhi on Saturday extended former deputy CM Manish
Sisodia’s custody till may 8 in a “money laundering” case related to the alleged excise scam.

Sisodia, who was produced before the court at the end of his judicial custody, said before
the media that Prime Minister Narendra Modi would not be able to stop chief minister Arvind
Kejriwal's work in Delhi.

“Modiji may try as much as he wants, but he won't be able to stop the work of Kejriwal ji
in Delhi. Modi ji may conspire as much as he wants,” Sisodia said while he was being
brought out of the courtroom.

On Friday, Special Judge MK Nagpal of Rouse Avenuae Court had denied bail to
Sisodia, stating that the evidence, prime facie, “speaks volumes” of his involvement in
commission of offence. The judge also said that the purported medical condition of Sisodia’s
wife was not a reason to grant him bail in this case. Additionally, he stated that it was
impossible to rule out the potential of Sisodia influencing key witnesses in the case.

The court had earlier noted that the alleged offence against Sisodia was a “serious
economic offence of money laundering” and that he had not been accused of committing the
offence in his personal capacity, but rather in his official capacity as a public servant
overseeing the excise ministry and serving as Delhi’s deputy chief minister.

Sub questions

Question Number : 1 Question Id : 9209067690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Custody has been extended. The synonym of the underlined word is:

(1) Person who provides protective care.
(2) Gauardianship of someone

(3) Parental responsibility

(4) Imprisonment or confinement

Options :

92090630401. 1
92090630402. 2
92090630403. 3
92090630404. 4



Question Number : 2 Question Id : 9209067691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prime facie means:

(1) Law at first sight
(2)  Accepted to be false before proved otherwise.
(2 Primary colour of an object

(4)  When prime accused are made face to face for the first time.

Options :

92090630405. 1
92090630406. 2
92090630407. 3
92090630408. 4

Question Number : 3 Question Id : 9209067692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phrase speaks volume means:

(1) Speaking lot of vulgar/abusive words.
(2) Frankly expressing views/opinions
(3 Convey a great deal without using words.

(4) Speaks without stopping.

Options :

92090630409. 1
92090630410. 2
92090630411. 3
92090630412. 4

Question Number : 4 Question Id : 9209067693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Money laundering is:

(A) Disguising financial assets concealing illegal activities which produced them.

(B) Finacial crime where source of illegally acquired money is hidden from financial
regulators.
(C) Giving legally earned money for illegal work.

(D) Not paying tax and saving money by such act.

Choose the correct answer from the options given helow :

(1) (A, B)
(2) (A, D)
(3) (A, C)
(4) (A, Band C)

Options :

92090630413. 1
92090630414. 2
92090630415. 3
92090630416. 4

Question Number : 5 Question Id : 9209067694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘conspire’ is:

(1) Plot (2) Disassociate

(3) Maneuver (4) Cook up

Options :

92090630417. 1
92090630418. 2
92090630419. 3
92090630420. 4

Question Id : 9209067689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Excise case: Court extends Sisodia’s custody till May 8
TimeNews Network

New Delhi: A special court in Delhi on Saturday extended former deputy CM Manish
Sisodia's custody till may 8 in a “money laundering” case related to the alleged excise scam.

Sisodia, who was produced before the court at the end of his judicial custody, said before
the media that Prime Minister Narendra Modi would not be able to stop chief minister Arvind
Kejriwal's work in Delhi.

“Modiji may try as much as he wants, but he won’t be able to stop the work of Kejriwal ji
in Delhi. Modi ji may conspire as much as he wants,” Sisodia said while he was being
brought out of the courtroom.

On Friday, Special Judge MK Nagpal of Rouse Avenuae Court had denied bail to
Sisodia, stating that the evidence, prime facie, “speaks volumes” of his involvement in
commission of offence. The judge also said that the purported medical condition of Sisodia’s
wife was not a reason to grant him bail in this case. Additionally, he stated that it was
impossible to rule out the potential of Sisodia influencing key witnesses in the case.

The court had earlier noted that the alleged offence against Sisodia was a “serious
economic offence of money laundering” and that he had not been accused of committing the
offence in his personal capacity, but rather in his official capacity as a public servant
overseeing the excise ministry and serving as Delhi's deputy chief minister.

Sub questions

Question Number : 1 Question Id : 9209067690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Custody has been extended. The synonym of the underlined word is:

(

p— p—

(

1) Person who provides protective care.
2) Gauardianship of someone

3) Parental responsibility

4) Imprisonment or confinement

Options :

92090630401. 1
92090630402. 2
92090630403. 3
92090630404. 4

Question Number : 2 Question Id : 9209067691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prime facie means:

(1) Law at first sight
(2)  Accepted to be false before proved otherwise.
(2 Primary colour of an object

(4)  When prime accused are made face to face for the first time.

Options :

92090630405. 1
92090630406. 2
92090630407. 3
92090630408. 4

Question Number : 3 Question Id : 9209067692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phrase speaks volume means:

(1) Speaking lot of vulgar/abusive words.
(2) Frankly expressing views/opinions
(3 Convey a great deal without using words.

(4) Speaks without stopping.

Options :

92090630409. 1
92090630410. 2
92090630411. 3
92090630412. 4

Question Number : 4 Question Id : 9209067693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Money laundering is:

(A) Disguising financial assets concealing illegal activities which produced them.

(B) Finacial crime where source of illegally acquired money is hidden from financial
regulators.
(C) Giving legally earned money for illegal work.

(D) Not paying tax and saving money by such act.

Choose the correct answer from the options given helow :

(1) (A, B)
(2) (A, D)
(3) (A, C)
(4) (A, Band C)

Options :

92090630413. 1
92090630414. 2
92090630415. 3
92090630416. 4

Question Number : 5 Question Id : 9209067694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘conspire’ is:

(1) Plot (2) Disassociate

(3) Maneuver (4) Cook up

Options :

92090630417. 1
92090630418. 2
92090630419. 3
92090630420. 4

Question Id : 9209067689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Excise case: Court extends Sisodia’s custody till May 8
TimeNews Network

New Delhi: A special court in Delhi on Saturday extended former deputy CM Manish
Sisodia's custody till may 8 in a “money laundering” case related to the alleged excise scam.

Sisodia, who was produced before the court at the end of his judicial custody, said before
the media that Prime Minister Narendra Modi would not be able to stop chief minister Arvind
Kejriwal's work in Delhi.

“Modiji may try as much as he wants, but he won’t be able to stop the work of Kejriwal ji
in Delhi. Modi ji may conspire as much as he wants,” Sisodia said while he was being
brought out of the courtroom.

On Friday, Special Judge MK Nagpal of Rouse Avenuae Court had denied bail to
Sisodia, stating that the evidence, prime facie, “speaks volumes” of his involvement in
commission of offence. The judge also said that the purported medical condition of Sisodia’s
wife was not a reason to grant him bail in this case. Additionally, he stated that it was
impossible to rule out the potential of Sisodia influencing key witnesses in the case.

The court had earlier noted that the alleged offence against Sisodia was a “serious
economic offence of money laundering” and that he had not been accused of committing the
offence in his personal capacity, but rather in his official capacity as a public servant
overseeing the excise ministry and serving as Delhi's deputy chief minister.

Sub questions

Question Number : 1 Question Id : 9209067690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Custody has been extended. The synonym of the underlined word is:

(

p— p—

(

1) Person who provides protective care.
2) Gauardianship of someone

3) Parental responsibility

4) Imprisonment or confinement

Options :

92090630401. 1
92090630402. 2
92090630403. 3
92090630404. 4

Question Number : 2 Question Id : 9209067691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prime facie means:

(1) Law at first sight
(2)  Accepted to be false before proved otherwise.
(2 Primary colour of an object

(4)  When prime accused are made face to face for the first time.

Options :

92090630405. 1
92090630406. 2
92090630407. 3
92090630408. 4

Question Number : 3 Question Id : 9209067692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phrase speaks volume means:

(1) Speaking lot of vulgar/abusive words.
(2) Frankly expressing views/opinions
(3 Convey a great deal without using words.

(4) Speaks without stopping.

Options :

92090630409. 1
92090630410. 2
92090630411. 3
92090630412. 4

Question Number : 4 Question Id : 9209067693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Money laundering is:

(A) Disguising financial assets concealing illegal activities which produced them.

(B) Finacial crime where source of illegally acquired money is hidden from financial
regulators.
(C) Giving legally earned money for illegal work.

(D) Not paying tax and saving money by such act.

Choose the correct answer from the options given helow :

(1) (A, B)
(2) (A, D)
(3) (A, C)
(4) (A, Band C)

Options :

92090630413. 1
92090630414. 2
92090630415. 3
92090630416. 4

Question Number : 5 Question Id : 9209067694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘conspire’ is:

(1) Plot (2) Disassociate

(3) Maneuver (4) Cook up

Options :

92090630417. 1
92090630418. 2
92090630419. 3
92090630420. 4

Sub-Section Number : 2
Sub-Section Id : 920906244
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

Though consent of a minor may be of no value. the eves of law,
the peculiar circumstances and fascts of the case, it will not be prudent a court to
label the youth as an accused.

(1) of, on, with, of (2) of. with, on, of

{3) of, for, in, on (4) of, in, in, for

Options :

92090630421. 1
92090630422. 2
92090630423. 3
92090630424. 4

Question Number : 6 Question Id : 9209067695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

Though consent of a minor may be of no value. the eves of law,
the peculiar circumstances and fascts of the case, it will not be prudent a court to
label the youth as an accused.

(L of, on, with, of (2) of, with, on, of

(3) of, for, in, on (4) of, in, in, for

Options :

92090630421. 1
92090630422. 2
92090630423. 3
92090630424. 4

Question Number : 6 Question Id : 9209067695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

Though consent of a minor may be of no value. the eves of law,

the peculiar circumstances and fascts of the case, it will not be prudent a court to
label the youth as an accused.

(1) of, on, with, of (2) of. with, on, of

(3 of, for, in, on (4) of.in, in, for

Options :
92090630421. 1



92090630422. 2
92090630423. 3
92090630424. 4

Question Number : 7 Question Id : 9209067696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A partner in a business who takes no active part 1s called:

(1)  Lazy Partner (2 Standing Partner
(3)  Sleeping Partner (4y No Partner
Options :

92090630425. 1
92090630426. 2
92090630427. 3
92090630428. 4

Question Number : 7 Question Id : 9209067696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A partner in a business who takes no active part 1s called:

(1)  Lazy Partner (2) Standing Partner
(3)  Sleeping Partner (4) No Partner
Options :

92090630425. 1
92090630426. 2
92090630427. 3
92090630428. 4

Question Number : 7 Question Id : 9209067696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A partner in a business who takes no active part 1s called:

(1) Lazy Partner (2) Standing Partner
(3)  Sleeping Partner (4y No Partner



Options :

92090630425. 1
92090630426. 2
92090630427. 3
92090630428. 4

Question Number : 8 Question Id : 9209067697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word ‘PROFANE’ is:

(1) Wild (2) Kitten
(3) Permissive (4) Pious
Options :

92090630429. 1
92090630430. 2
92090630431. 3
92090630432. 4

Question Number : 8 Question Id : 9209067697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word ‘PROFANE’ is:

(1) Wild {2) Kitten

(3) Permissive (4) Pious

Options :

92090630429. 1
92090630430. 2
92090630431. 3
92090630432. 4

Question Number : 8 Question Id : 9209067697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word ‘PROFANE’ is:

(1) Wild {2) Kitten

(3) Permissive (4) Pious

Options :

92090630429. 1
92090630430. 2
92090630431. 3
92090630432. 4

Question Number : 9 Question Id : 9209067698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word ‘PROCLAIM’ is:

(1) Justice (2) Renounce

(3) Pretend (4)  Announce

Options :

92090630433. 1
92090630434. 2
92090630435. 3
92090630436. 4

Question Number : 9 Question Id : 9209067698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word ‘PROCLAIM’ is:

(1) Justice (2) Renounce

(3) Pretend (4)  Announce

Options :

92090630433. 1
92090630434. 2
92090630435. 3
92090630436. 4

Question Number : 9 Question Id : 9209067698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Synonym of the word ‘PROCLAIM’ is:

(1) Justice (2) Renounce

(3) Pretend (4)  Announce

Options :

92090630433. 1
92090630434. 2
92090630435. 3
92090630436. 4

Question Number : 10 Question Id : 9209067699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-
(1) TONSILLECTOMY (2) TONSELECTOMY
(3) TONESLECTOMY (4) TONALLECTOMY

Options :

92090630437. 1
92090630438. 2
92090630439. 3
92090630440. 4

Question Number : 10 Question Id : 9209067699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-
(1) TONSILLECTOMY (2) TONSELECTOMY
(3) TONESLECTOMY (4 TONALLECTOMY

Options :

92090630437. 1
92090630438. 2
92090630439. 3
92090630440. 4

Question Number : 10 Question Id : 9209067699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) TONSILLECTOMY (2) TONSELECTOMY
(3) TONESLECTOMY (4 TONALLECTOMY
Options :

92090630437. 1
92090630438. 2
92090630439. 3
92090630440. 4

Question Number : 11 Question Id : 9209067700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what rate of simple interest a money doubles itself in 5 years?
(1) 15% (2) B%

(3) 20% (4) 10%

Options :

92090630441.
92090630442.
92090630443.
92090630444.

B W N =

Question Number : 11 Question Id : 9209067700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what rate of simple interest a money doubles itself in 5 vears?
(1) 15% (2) bH%
(3) 20% (4) 10%

Options :

92090630441.
92090630442.
92090630443.
92090630444.

N O R O R

Question Number : 11 Question Id : 9209067700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

At what rate of simple interest a money doubles itself in 5 vears?
(1) 15% (2) B%

(:3) 20% 4) 10%

Options :

92090630441.
92090630442.
92090630443.
92090630444.

AW N~

Question Number : 12 Question Id : 9209067701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A:B=1:3B:C=2:5,C:D=2:3,. findA:B:C:D.

(1) B:12:25:30 (2) 4:12:30:45
(3) 1:6:10:5 4) 2:6:12:15
Options :

92090630445. 1
92090630446. 2
92090630447. 3
92090630448. 4

Question Number : 12 Question Id : 9209067701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A:B=1:3B:C=2:5,C:D=2:3,findA:B:C:D.

(1) B:12:25:30 (2) 4:12:30:45
(3) 1:6:10:56 4 2:6:12:15

Options :

92090630445. 1
92090630446. 2
92090630447. 3
92090630448. 4



Question Number : 12 Question Id : 9209067701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A:B=1:3B:C=2:5C:D=2:3,findA:B:C:D.

(1) 8:12:25:30 (2) 4:12:30:45
(3) 1:6:10:5 1) 2:6:12:15

Options :

92090630445. 1
92090630446. 2
92090630447. 3
92090630448. 4

Question Number : 13 Question Id : 9209067702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A path of uniform width runs around inside of a rectangular field 38m long and 32m wide. If
area of the path is 600m?2, then width of the path will be

(1) 30m (2) 5Hm
(3 10m (4) 18.7bm
Options :

92090630449. 1
92090630450. 2
92090630451. 3
92090630452. 4

Question Number : 13 Question Id : 9209067702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A path of uniform width runs around inside of a rectangular field 38m long and 32m wide. If
area of the path is 600m?2, then width of the path will be

(1) 30m (2) 5Hm

(3) 10m (4) 18.75m
Options :
92090630449. 1

92090630450. 2
92090630451. 3



92090630452. 4

Question Number : 13 Question Id : 9209067702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A path of uniform width runs around inside of a rectangular field 38m long and 32m wide. If
area of the path is 600m=, then width of the path will be

(1) 30m (Z) DBm
(3) 10m (4) 18.75m

Options :

92090630449. 1
92090630450. 2
92090630451. 3
92090630452. 4

Question Number : 14 Question Id : 9209067703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Selling prices of two items are same. One item is sold at a loss of 20% and the other item is
sold a profit of 20%. What is the net loss/profit percentage?

(1) No prfit no loss (2) 2% profit
(3) 3% loss (4) 4% loss
Options :

92090630453. 1
92090630454. 2
92090630455. 3
92090630456. 4

Question Number : 14 Question Id : 9209067703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Selling prices of two items are same. (One item is sold at a loss of 20% and the other item is
sold a profit of 20%. What is the net loss/profit percentage?

(1) No prfit no loss (2) 2% profit
(3 3% loss (4) 4% loss
Options :

92090630453. 1



92090630454. 2
92090630455. 3
92090630456. 4

Question Number : 14 Question Id : 9209067703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Selling prices of two items are same. One item is sold at a loss of 20% and the other item is
sold a profit of 20%. What is the net loss/profit percentage?

(1) No prfit no loss (2) 2% profit
(3) 3% loss (4) 4% loss
Options :

92090630453. 1
92090630454. 2
92090630455. 3
92090630456. 4

Question Number : 15 Question Id : 9209067704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vijay, Rakesh and Vinod can do a work in 24 days, 30 days and 40 days respectively. Vijay
and Vinod together worked for 4 days and handed the work to Rakesh. Rakesh worked for few
days and handed back the work to Vijay and Vinod 6 days before compleation of the work.
For how many days did Hakesh work?

(1) 12 (2) 10
(3) 8 4) 7
Options :

92090630457. 1
92090630458. 2
92090630459. 3
92090630460. 4

Question Number : 15 Question Id : 9209067704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vijay, Rakesh and Vinod can do a work in 24 days, 30 days and 40 days respectively. Vijay
and Vinod together worked for 4 days and handed the work to Rakesh. Rakesh worked for few
days and handed back the work to Vijay and Vinod 6 days before compleation of the work.
For how many days did Hakesh work?

(1) 12 (2) 10
(3) 8 4 7
Options :

92090630457. 1
92090630458. 2
92090630459. 3
92090630460. 4

Question Number : 15 Question Id : 9209067704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vijay, Rakesh and Vinod can do a work in 24 davs. 30 days and 40 davs respectively. Vijay
and Vinod together worked for 4 days and handed the work to Rakesh. Rakesh worked for few
days and handed back the work to Vijay and Vinod 6 days before compleation of the work.
For how many days did Rakesh work?

(1) 12 (2) 10
(3) 8 4) 7
Options :

92090630457. 1
92090630458. 2
92090630459. 3
92090630460. 4

Question Number : 16 Question Id : 9209067705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose set of numbers from the four alternative sets that is similar to given set:
Given set ( 5, 35, 45)

(1) (7,49, 65) (Z) (7,49, 63)
(3) ( 8 56, 90) (4) (8,b66,73)

Options :
92090630461. 1



92090630462. 2
92090630463. 3
92090630464. 4

Question Number : 16 Question Id : 9209067705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose set of numbers from the four alternative sets that is similar to given set:

Given set ( 5, 35, 45 )

(1) (7, 49,65) (2) (7,49,63)
(3 (8 56, 90) (4) (8 b6, T3)

Options :

92090630461. 1
92090630462. 2
92090630463. 3
92090630464. 4

Question Number : 16 Question Id : 9209067705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose set of numbers from the four alternative sets that is similar to given set:

Given set ( 5, 35, 45 )

(1) (7,49, 65) (2) (7,49 63)
(3) ( 8, 56, 90) (4) (8,566, 73)
Options :

92090630461. 1
92090630462. 2
92090630463. 3
92090630464. 4

Question Number : 17 Question Id : 9209067706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the assumptions is implicit in the statements :
Statement :  “There is very heavy traffic on Delhi roads between 6 to 8 pm. We need
to have flyover in this area” A planning engineer said in a meeting.
Assumptions (I). Previous planning engineers did not do much about heavy traffic.
(IT). Heavy traffic is sought to be maintained.

(III). A flyover is likely to solve the problem of heavy traffic.
In the light of the above statements, choose the correct answer from the options given below :

(1) Only (I) is implicit

(2) Only (IT) 1s implicit

(3) Only (IIT) is implicit

i(4) Both (IT) and (IIT) are implicit.
Options :
92090630465. 1
92090630466. 2

92090630467. 3
92090630468. 4

Question Number : 17 Question Id : 9209067706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the assumptions is implicit in the statements :
Statement :  “There is very heavy traffic on Delhi roads between 6 to 8 pm. We need
to have flyover in this area” A planning engineer said in a meeting.
Assumptions (I). Previous planning engineers did not do much about heavy traffic.
(IT). Heavy traffic is sought to be maintained.
(III). A flyover is likely to solve the problem of heavy traffic.
In the light of the above statements, choose the correct answer from the options given below :
(1) Only (I) is implicit
(2) Only (IT) 1s implicit
(3) Only (IIT) is implicit
i(4) Both (IT) and (IIT) are implicit.

Options :
92090630465. 1



92090630466. 2
92090630467. 3
92090630468. 4

Question Number : 17 Question Id : 9209067706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the assumptions is implicit in the statements :

Statement :  “There is very heavy traffic on Delhi roads between 6 to 8 pm. We need
to have flvover in this area™ A planning engineer said in a meeting.

Assumptions (I). Previous planning engineers did not do much about heavy traffic.
(II). Heavy traffic is sought to be maintained.

(III). A flyover is likely to solve the problem of heavy traffic.

In the light of the above statements, choose the correct answer from the options given below :

(=]

(
(2)

3) Only (ITI) is implicit

(4) Both (IT) and (III) are implicit.

) Only (I) is implicit
Only (II) is implicit

—

Options :

92090630465. 1
92090630466. 2
92090630467. 3
92090630468. 4

Question Number : 18 Question Id : 9209067707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(One morning after sunrise Anuj and Sumit were talking to each other face-to-face at the park.
If Anuj’'s shadow was exactly to the right of Sumit, which direction Anuj was facing?

(1) East (2) West
(3 MNorth (4) South
Options :

92090630469. 1
92090630470. 2
92090630471. 3
92090630472. 4



Question Number : 18 Question Id : 9209067707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(One morning after sunrise Anuj and Sumit were talking to each other face-to-face at the park.
If Anuj’s shadow was exactly to the right of Sumit, which direction Anuj was facing?

(1) East (2) West
(3 North (4) South
Options :

92090630469. 1
92090630470. 2
92090630471. 3
92090630472. 4

Question Number : 18 Question Id : 9209067707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One morning after sunrise Anuj and Sumit were talking to each other face-to-face at the park.
If Anuj's shadow was exactly to the right of Sumit, which direction Anuj was facing?

(1) East (2) West
(3) MNorth {(4) South

Options :

92090630469. 1
92090630470. 2
92090630471. 3
92090630472. 4

Question Number : 19 Question Id : 9209067708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A— B means A is the sister of B; A + B means A is the brother of B while A x B means A
is the father of B. Which of the following means that C is the son of M?

(1) F-C+N=xM 20 M-N=xC+F
(3) N+M-F=xC (49) MxN-C+F
Options :

92090630473. 1



92090630474. 2
92090630475. 3
92090630476. 4

Question Number : 19 Question Id : 9209067708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A— B means A is the sister of B; A + B means A is the brother of B while A x B means A
is the father of B. Which of the following means that C is the son of M?

(1) F-C+NxM 2 M-NxC+F
(3) N+M-FxC 4 MxN-C+F
Options :

92090630473. 1
92090630474. 2
92090630475. 3
92090630476. 4

Question Number : 19 Question Id : 9209067708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A — B means A is the sister of B; A + B means A is the brother of B while A x B means A
is the father of B. Which of the following means that C is the son of M?

(1) F-C+N=xM (2 M-NxC+F
(3) N+M-FxC 4) MxN-C+F
Options :

92090630473. 1
92090630474. 2
92090630475. 3
92090630476. 4

Question Number : 20 Question Id : 9209067709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the option figure would complete the figure matrix:

10| 0| 0
1?90
jcbc}:*

(1)

O @
O 35

(3) (4)
Options :
92090630477. 1
92090630478. 2
92090630479. 3
92090630480. 4

Question Number : 20 Question Id : 9209067709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the option figure would complete the figure matrix:

10| 0| 0
1?90
jcbc}:*

(1)

O @
O 35

(3) (4)
Options :
92090630477. 1
92090630478. 2
92090630479. 3
92090630480. 4

Question Number : 20 Question Id : 9209067709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the option figure would complete the figure matrix:

| 9|9
Q0|0

O | o »

5
?

(1)

O
5

(3) (4)
Options :
92090630477. 1
92090630478. 2
92090630479. 3
92090630480. 4

Question Number : 21 Question Id : 9209067710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of wavelength of electromagnetic spectrum

(1) v—rays < X — rays < Ultraviolet rays < Vizible rays
(2) X —rays <y —rays < Ultraviolet rays < Visible
(3) Visible rays < Ultraviolet <y —rays < X- rays

(4) Ultravidet rays < Visible rays <y — rays < X - rays

Options :

92090630481. 1
92090630482. 2
92090630483. 3
92090630484. 4



Question Number : 21 Question Id : 9209067710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of wavelength of electromagnetic spectrum

(1) v—rays < X — rays < Ultraviolet rays < Visible rays
(2) X —rays <y —rays < Ultraviolet rays < Visible
(3) Visible rays < Ultraviolet <y — rays < X- rays

(4) Ultravidet rays < Visible rays < y —rays < X - rays

Options :

92090630481. 1
92090630482. 2
92090630483. 3
92090630484. 4

Question Number : 21 Question Id : 9209067710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of wavelength of electromagnetic spectrum

(1) v —rays < X — rays < Ultraviolet rays < Visible rays
(2) X —rays <y —rays < Ultraviolet rays < Visible
(3) Visible rays < Ultraviolet <y — rays < X- rays

(4) Ultravidet rays < Visible rays <y — rays < X - rays

Options :

92090630481. 1
92090630482. 2
92090630483. 3
92090630484. 4

Question Number : 22 Question Id : 9209067711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ig alzo known as waterman for his contribution in water conservation and
protection of water resources.

(1) Dr. C.5 Ranawat (2) Dr. Rajendra Singh
(3 Sundar Lal Bahuguna (4) Baba Aamte



Options :

92090630485. 1
92090630486. 2
92090630487. 3
92090630488. 4

Question Number : 22 Question Id : 9209067711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is also known as waterman for his contribution in water conservation and
protection of water resources.

(1) Dr. C.5 Ranawat (2) Dr. Rajendra Singh
(3) Sundar Lal Bahuguna (4) Baba Aamte
Options :

92090630485. 1
92090630486. 2
92090630487. 3
92090630488. 4

Question Number : 22 Question Id : 9209067711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is also known as waterman for his contribution in water conservation and
protection of water resources.

(1) Dr. C.5 Ranawat (2) Dr. Rajendra Singh
(3) Sundar Lal Bahuguna (4) Baba Aamte
Options :

92090630485. 1
92090630486. 2
92090630487. 3
92090630488. 4

Question Number : 23 Question Id : 9209067712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1

: Court poets and Mucicians

List I List 11
Court poets / Musicians King /| Emperor
{A) Harisena (Il  Akbar

(B) Kalidasa
{C) Tansen
(DY Dindima

(II) Samudra Gupta
(IIT) Deva Roy -1I
(IV) Chandragupta II

Choose the correct answer from the options given below:

(1)  (A)-(HI), (B)-(ID). (C)-(D), (D)-(AIV)
(2) (AL, (B)-V), (C)-(D), (D)-(1)
3 (A-IV), (B)-1D), (C)-(1), (D)-(I)
(4)  (A)-IID, (B)-(IV), (C)-(I), (D)-(IT)

Options :

92090630489. 1
92090630490. 2
92090630491. 3
92090630492. 4

Question Number : 23 Question Id : 9209067712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mateh List I with List IT : Court poets and Mucicians

List I List II
Court poets / Musicians

(A) Harizena (I}  Akbar
(B) Kalidasa
{C) Tansen

(D} Dindima

King /| Emperor

(II) Samudra Gupta
(IIT) Deva Roy -II
(IV) Chandragupta II

Choose the correct answer from the options given below:

(1)  (A)-(II), (B)-(ID). (C)-(D), (D)-(AIV)
(2)  (A)-(ID), (B)-AV), (C)-(D), (D)-(I1L)
(3 (A)-IV), (B)-(I1I), (C)-(1T), (D)-(I)
(4)  (A)-(ID, (B)-(IV), (C)-(1), (D)-(IL)



Options :

92090630489. 1
92090630490. 2
92090630491. 3
92090630492. 4

Question Number : 23 Question Id : 9209067712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II : Court poets and Mucicians

List I List II
Court poets / Musicians King /| Emperor
(A) Harisena (I} Akbar
(B) Kalidasa (II) Samudra Gupta
() Tansen (IIT) Deva Roy -1I
(D) Dindima (IV) Chandragupta I1

Choose the correct answer from the options given below:

(1) (A)-(III ), (B)-(ID), (C)-(I), (D)-(IV)
(2) (A)-(IT), (B)-(IV), (C)-(D), (D)-(I1T)
(3) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
{(4) (A)-(1II), (B)-(IV), (C)-(L), (D)-(1I)

Options :

92090630489. 1
92090630490. 2
92090630491. 3
92090630492. 4

Question Number : 24 Question Id : 9209067713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement [ : Ozone laver in the atmosphere is being depleted because of presence of
C0=2, N2} and methane

Statement [I :  Ozone layer at higher level of atmosphere shields the surface of earth
from ultra violet radiations from Sun.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement I is correct but Statement 11 is incorrect

i(4) Statement I is incorrect but Statement 11 is correct
Options :

92090630493. 1
92090630494. 2
92090630495. 3
92090630496. 4

Question Number : 24 Question Id : 9209067713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Ozone layer in the atmosphere is being depleted because of presence of

C0=2, N0 and methane

Statement [I :  Ozone layer at higher level of atmosphere shields the surface of earth
from ultra violet radiations from Sun.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct
Options :

92090630493. 1
92090630494. 2
92090630495. 3
92090630496. 4



Question Number : 24 Question Id : 9209067713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Ozone laver in the atmosphere is being depleted because of presence of

C02, N0} and methane

Statement [1 :  Ozone layer at higher level of atmosphere shields the surface of earth
from ultra violet radiations from Sun.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement 11 is incorrect

i(4) Statement [ is incorrect but Statement 11 is correct
Options :

92090630493. 1
92090630494. 2
92090630495. 3
92090630496. 4

Question Number : 25 Question Id : 9209067714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which city has won the ‘world Green City Award 2022’

(1) Indore (2) Varanasi
(3) Hyderabad (4) Gurugram
Options :

92090630497. 1
92090630498. 2
92090630499. 3
92090630500. 4

Question Number : 25 Question Id : 9209067714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which city has won the ‘world Green City Award 2022’

(1) Indore (2) Varanasi
(3) Hvderabad (4) Gurugram
Options :

92090630497. 1
92090630498. 2
92090630499. 3
92090630500. 4

Question Number : 25 Question Id : 9209067714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which city has won the ‘world Green City Award 2022

(1) Indore (2) Varanasi
(3) Hvderabad (4) Guragram
Options :

92090630497. 1
92090630498. 2
92090630499. 3
92090630500. 4

Part B: Samveda

Section Id : 920906154
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906245
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 9209067715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HATGgd! R Hidd: -

(1) =4I (2) T4:|

(3)  =dER: | (4) wa|
Options :

92090630501. 1
92090630502. 2
92090630503. 3
92090630504. 4

Question Number : 26 Question Id : 9209067715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qEfeTgd! HEEs: i -

(1) Hid | (Z2) =H:|

(3 =FE: | (4) T4
Options :

92090630501. 1
92090630502. 2
92090630503. 3
92090630504. 4

Question Number : 26 Question Id : 9209067715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HATGgd! R Hidd: -

(1) =4I (2) T4:|

(3)  =dER: | (4) wa|
Options :

92090630501. 1
92090630502. 2
92090630503. 3



92090630504. 4

Question Number : 27 Question Id : 9209067716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) iy (2) 94
(3) = T | (4) =HI
Options :

92090630505. 1
92090630506. 2
92090630507. 3
92090630508. 4

Question Number : 27 Question Id : 9209067716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) o (2) U4
(3) o= | (4) |HI
Options :

92090630505. 1
92090630506. 2
92090630507. 3
92090630508. 4

Question Number : 27 Question Id : 9209067716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1 s (2) U
(3 =TT | (4) ==
Options :

92090630505. 1



92090630506. 2
92090630507. 3
92090630508. 4

Question Number : 28 Question Id : 9209067717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATA A ATH-RE R |

(1) STy, (2) EraERgEEE |
(3)  FEEEAEEEE | (4) HeEAMRYEE |
Options :

92090630509. 1
92090630510. 2
92090630511. 3
92090630512. 4

Question Number : 28 Question Id : 9209067717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AT ATHRE T |

(1)  AIaEy (2) =ErEEAETEEE |
(3)  SATEEEAEEEE | (4) HeEARH T |
Options :

92090630509. 1
92090630510. 2
92090630511. 3
92090630512. 4

Question Number : 28 Question Id : 9209067717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AT ATHAE R |
(1)  JIAEy (2) =ErEEAETEEE |
(3)  AEEEAEEEE | (4) FEMEEHEEA |

Options :



92090630509. 1
92090630510. 2
92090630511. 3
92090630512. 4

Question Number : 29 Question Id : 9209067718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AVEAHETHIRIRE YEyfaefaed: |

(1)  T=EEs: | (2) SATEUEEM: |
(3) &adEf: | (4) HM: HHIARTHA |
Options :

92090630513. 1
92090630514. 2
92090630515. 3
92090630516. 4

Question Number : 29 Question Id : 9209067718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AVEATEHIRRE WEWaeaTa: |

(1) T | (2) HATEHTAT: |
(3)  gEE: | (4) HM: HEEPTA |
Options :

92090630513. 1
92090630514. 2
92090630515. 3
92090630516. 4

Question Number : 29 Question Id : 9209067718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AVEAHETHIRIRE YEyfaefaed: |
(1)  T=SgEEs: | (2) HATEHEAW: |
(3) &adEf: | (4) HM: HHIARTHA |



Options :

92090630513. 1
92090630514. 2
92090630515. 3
92090630516. 4

Question Number : 30 Question Id : 9209067719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARG - BN - Ha1E: FHT I9FEE FYTerE |

(1)  HUeshmEE| (2) HAMEe |
(3) WAt | (4) wrerEmtfe )
Options :

92090630517. 1
92090630518. 2
92090630519. 3
92090630520. 4

Question Number : 30 Question Id : 9209067719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ANE AU - HaTE: FETY Iqffe AgTera |

(1)  HUEshmHE| (2) waMERE |
(3)  wwEmiEfa (4) wrErEtEE |
Options :

92090630517. 1
92090630518. 2
92090630519. 3
92090630520. 4

Question Number : 30 Question Id : 9209067719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ARG -HAFHN-Ha1E: FHTY Jf-uie HHTerE |

(1) LEECIRIELIC] (2) Il
(3)  WwAmEe | (4) S=rEMEEE |
Options :

92090630517. 1
92090630518. 2
92090630519. 3
92090630520. 4

Question Number : 31 Question Id : 9209067720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TERY, JAgETE: |

(1)  Scgefpdl: 9= | (2) TIEEHAT: HAT: |

(3) e 5 | (4) HAOETER: 7= |
Options :

92090630521. 1
92090630522. 2
92090630523. 3
92090630524. 4

Question Number : 31 Question Id : 9209067720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrFaT-THET SAEEEr: |

(1)  Seaesshdl: W= | (2) RIEHAT: TA: |

(3)  smenfE: 7= | (4) FETE: = |
Options :

92090630521. 1
92090630522. 2
92090630523. 3
92090630524. 4

Question Number : 31 Question Id : 9209067720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T ER, FATEE: |

(1)  WeaeFdl: 9= | (2) TIEFHAT: HAT: |

(3)  swefoET: 9 | (4)  FfETER: = |
Options :

92090630521. 1
92090630522. 2
92090630523. 3
92090630524. 4

Question Number : 32 Question Id : 9209067721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTPTEE W A1 |

(1) LESIEE (2) Ihg: |
(3) FuEE:| (4) wiaE=il
Options :

92090630525. 1
92090630526. 2
92090630527. 3
92090630528. 4

Question Number : 32 Question Id : 9209067721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIHTHE YR A1 |

() w=EE:| (2) Ihg: |
(3) IwEE:| (4) ol |
Options :

92090630525. 1
92090630526. 2
92090630527. 3
92090630528. 4

Question Number : 32 Question Id : 9209067721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HTHTAS Yo 16 |

(1) = (2) I |
(3) IoEE: | (4) wfaE=il
Options :

92090630525. 1
92090630526. 2
92090630527. 3
92090630528. 4

Question Number : 33 Question Id : 9209067722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH I SR A 7

(1)  wgddes | (2) HHIEHE |
(3) IEeEIEEH | (4) FIES I
Options :

92090630529. 1
92090630530. 2
92090630531. 3
92090630532. 4

Question Number : 33 Question Id : 9209067722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH 4 ATUEH AN 7

(1) W= | (2) WWEEHE |
(3) IFEIEEH | (4) F9H3 l
Options :

92090630529. 1
92090630530. 2
92090630531. 3
92090630532. 4



Question Number : 33 Question Id : 9209067722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH 45 AROFF A 7

(1)  woEae | (2) HHEGH |
(3) IEFEIEEH | (4) FOEIHEH |
Options :

92090630529. 1
92090630530. 2
92090630531. 3
92090630532. 4

Question Number : 34 Question Id : 9209067723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHEEH [EiT=e Hid FIEE: |7

(1) =« (2) w2
(3)  wE (4) FgEm
Options :

92090630533. 1
92090630534. 2
92090630535. 3
92090630536. 4

Question Number : 34 Question Id : 9209067723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHEEH qaifae Hid TI8H: | 7

(1) &4 (2) Wg
(3) (4) FaEm
Options :

92090630533. 1
92090630534. 2
92090630535. 3
92090630536. 4



Question Number : 34 Question Id : 9209067723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHEEH qaifae Hid TI8H: | 7

() ¥4 (2) 9w
(3) =@ (4) Fdrea
Options :

92090630533. 1
92090630534. 2
92090630535. 3
92090630536. 4

Question Number : 35 Question Id : 9209067724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  FommEE (2) T
(3)  FormEE (4) Tt
Options :

92090630537. 1
92090630538. 2
92090630539. 3
92090630540. 4

Question Number : 35 Question Id : 9209067724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  FommEE (2) FFTEH
(3)  FEEE] (4)  TorafaEET
Options :

92090630537. 1
92090630538. 2
92090630539. 3
92090630540. 4



Question Number : 35 Question Id : 9209067724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  FommeE (2) FgmEE
(3) T (4) Tt
Options :

92090630537. 1
92090630538. 2
92090630539. 3
92090630540. 4

Question Number : 36 Question Id : 9209067725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A3 W FeEEn 3 A FE It add 7

(1)  HAmafsfa (2) BIEMAEMHER |
(3)  Affrmfnt (4) HUsHMEHER
Options :

92090630541. 1
92090630542. 2
92090630543. 3
92090630544. 4

Question Number : 36 Question Id : 9209067725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 2 o AEY 3t e e Iafefs 36 7

(1)  FAmEf | (2) BrEEEEFER |
(3)  dfeEmtm | (4) HzmmtEgl
Options :

92090630541. 1
92090630542. 2
92090630543. 3
92090630544. 4



Question Number : 36 Question Id : 9209067725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A 3 o degEd 3t A FET 3o fefe avd ¢

(1)  SHAMEEE | (2) BIErEEHER |
(3)  dAfefamtez | (4) HUEHMEER
Options :

92090630541. 1
92090630542. 2
92090630543. 3
92090630544. 4

Question Number : 37 Question Id : 9209067726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R e CI G A

(1)  AHEFAETERTHH | (2) wEfEETETE |
(3) WA | (4) SHITFEIHH |
Options :

92090630545. 1
92090630546. 2
92090630547. 3
92090630548. 4

Question Number : 37 Question Id : 9209067726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A I -

(1)  AHEFAETERTHH | (2) wEfEETEAE |
(3) AR | (4) SITFEEHH |
Options :

92090630545. 1
92090630546. 2
92090630547. 3
92090630548. 4



Question Number : 37 Question Id : 9209067726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= et -

(1)  AREATZTERTHA | (2) TAfETETEAA |
(3) R | (4) HAFEIHE=H |
Options :

92090630545. 1
92090630546. 2
92090630547. 3
92090630548. 4

Question Number : 38 Question Id : 9209067727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSEANA9TE Fid Taaa: |f 7

(1) H=9] (2) HEEAI
(3)  UHHTEE | (4) =@
Options :

92090630549. 1
92090630550. 2
92090630551. 3
92090630552. 4

Question Number : 38 Question Id : 9209067727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST EIRE i WUTEen: Hi 7

(1)  wr=a| (2) HERA|
(3) THEARETA | (4) ==
Options :

92090630549. 1
92090630550. 2
92090630551. 3
92090630552. 4



Question Number : 38 Question Id : 9209067727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSTEANA9TE Fid TIaa: |i 7

(1) W= (2) FETEA |
(3)  UHEAEEA | (4) =TI
Options :

92090630549. 1
92090630550. 2
92090630551. 3
92090630552. 4

Question Number : 39 Question Id : 9209067728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i Wafasr: wafa 7

(1) RE| (2) GHI

3 = (4 I
Options :

92090630553. 1
92090630554. 2
92090630555. 3
92090630556. 4

Question Number : 39 Question Id : 9209067728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=i wEfasAT: Wai= 7

(1) RE| (2) HHI
(3 W= (4) FEI
Options :

92090630553. 1
92090630554. 2
92090630555. 3
92090630556. 4



Question Number : 39 Question Id : 9209067728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i EERRT: W& 7

(1) L) (2) dHI

(3 W 1) FHeEI
Options :

92090630553. 1
92090630554. 2
92090630555. 3
92090630556. 4

Question Number : 40 Question Id : 9209067729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘3 AR T = de WH 5 7

(1) FgEeH| 2)  HHAEHE |
(3) TEE=| (4) EEEE |
Options :

92090630557. 1
92090630558. 2
92090630559. 3
92090630560. 4

Question Number : 40 Question Id : 9209067729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘3 AT dia)” R deE NUEl B 7

(1) Fq9eH| (2) @mmEEE |
(3) FEEE| (4) EEEE |
Options :

92090630557. 1
92090630558. 2
92090630559. 3
92090630560. 4



Question Number : 40 Question Id : 9209067729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘3 AR T FE g WH B 7

(1) FqEeH| 2)  HEEEE |
(3) FEEE) (4) U |
Options :

92090630557. 1
92090630558. 2
92090630559. 3
92090630560. 4

Question Number : 41 Question Id : 9209067730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FE: HVEHMA: F a1 - A FgEg AT

() Fe (2) & |
(3 @ (4) T
Options :

92090630561. 1
92090630562. 2
92090630563. 3
92090630564. 4

Question Number : 41 Question Id : 9209067730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FE: HVEEHA: F <aal - A FgEe Zlavmfdaar

(1) F&:| (2) fam: |
(3) @ (4) b1
Options :

92090630561. 1
92090630562. 2
92090630563. 3
92090630564. 4



Question Number : 41 Question Id : 9209067730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FE: HOSEHA: F <FA - A TgEE FavrgETE

(1) e (2) fao: |
(3 A= (4) F&b: |
Options :

92090630561. 1
92090630562. 2
92090630563. 3
92090630564. 4

Question Number : 42 Question Id : 9209067731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“UB 1 Aty =Y et e s e N w0y

(1) I (2) fawarfimE: |
(3)  TEm: | (4) =fmE:|
Options :

92090630565. 1
92090630566. 2
92090630567. 3
92090630568. 4

Question Number : 42 Question Id : 9209067731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘e T sAfafg w e ey 3 o= =l =0

(1) F9H I (2) foafim: |
(3)  TiEm: | (4) affm: |
Options :

92090630565. 1
92090630566. 2



92090630567. 3
92090630568. 4

Question Number : 42 Question Id : 9209067731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U8 a1 Aty wqu et fmg sf v =i 00

(1) 3 (2) Tawfim: |
(3) A | (4) afaE:|
Options :

92090630565. 1
92090630566. 2
92090630567. 3
92090630568. 4

Question Number : 43 Question Id : 9209067732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘et gd Jofte g fovaegay | o= Sfase Feg:

(1) TEEs=E | (2) A= |
(3) eSS | (4) FILBEE |
Options :

92090630569. 1
92090630570. 2
92090630571. 3
92090630572. 4

Question Number : 43 Question Id : 9209067732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Hfe g Foitne FAT fawaaeay| | w=1sE ey g

(1) TEEs=eE | (2) e |
(3) S | (4) FIgHEEI
Options :

92090630569. 1
92090630570. 2



92090630571. 3
92090630572. 4

Question Number : 43 Question Id : 9209067732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘et gd Joftre grn favaegay’ | =T Sfasey fee: e

(1)  TEEEE=E | (2) wEEAT=aE |
(3)  HTesaE | (4) FTLBEME |
Options :

92090630569. 1
92090630570. 2
92090630571. 3
92090630572. 4

Question Number : 44 Question Id : 9209067733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A 3 AEe: miE | | e O |
(1)  favawm) (2) |
(3 g (4) oA |
Options :

92090630573. 1
92090630574. 2
92090630575. 3
92090630576. 4

Question Number : 44 Question Id : 9209067733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Al 3 AT wiE A | 3 e O |
(1) ferveE) (2) T
3 W (4) oo |
Options :

92090630573. 1



92090630574. 2
92090630575. 3
92090630576. 4

Question Number : 44 Question Id : 9209067733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A1 3 "R mfE wd: | 7 T wEd |
(1) famm) (2) |
3) W= (4) oo |
Options :

92090630573. 1
92090630574. 2
92090630575. 3
92090630576. 4

Question Number : 45 Question Id : 9209067734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) FEgH| (2) wWEEHE |
(3)  AuETEH= | (4) AqAEH |
Options :

92090630577. 1
92090630578. 2
92090630579. 3
92090630580. 4

Question Number : 45 Question Id : 9209067734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1) e | (2) wEEE |
(3)  wEaEHE | (4) wHeH |



Options :

92090630577. 1
92090630578. 2
92090630579. 3
92090630580. 4

Question Number : 45 Question Id : 9209067734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) FEgH| (2) T |
(3)  AuETEH= | (4) AqAEH |
Options :

92090630577. 1
92090630578. 2
92090630579. 3
92090630580. 4

Question Number : 46 Question Id : 9209067735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EECE2 L ECH T

(1)  HAgEe: | (2) TrHEEE: |
(3) o (4) FEIEEE: |
Options :

92090630581. 1
92090630582. 2
92090630583. 3
92090630584. 4

Question Number : 46 Question Id : 9209067735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AdeH ‘ITEe: & ?

(1) AFEe: | (2) TFaEEE: |
(3) e | (4) FETEEE: |
Options :

92090630581. 1
92090630582. 2
92090630583. 3
92090630584. 4

Question Number : 46 Question Id : 9209067735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qqdeHE IEE: & 7

(1) smgee: | (2) TuEaE: |
(3)  oEe: | (4) FAIEEE: |
Options :

92090630581. 1
92090630582. 2
92090630583. 3
92090630584. 4

Question Number : 47 Question Id : 9209067736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘3 = 31 o A

(1 (2) =]
(3)  FEA (4) WAl
Options :

92090630585. 1
92090630586. 2
92090630587. 3
92090630588. 4

Question Number : 47 Question Id : 9209067736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

‘3 = =W " 31 o= A

(1 fr (2) =&
(3) A (4) WAl
Options :

92090630585. 1
92090630586. 2
92090630587. 3
92090630588. 4

Question Number : 47 Question Id : 9209067736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘3 = 3T o A

(n  fmm (2) =&
(3) A (4) e |
Options :

92090630585. 1
92090630586. 2
92090630587. 3
92090630588. 4

Question Number : 48 Question Id : 9209067737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) F W& FE | (2) FqEA HE|
(3)  FoECA HE | (4) HUEEEA TR
Options :

92090630589. 1
92090630590. 2
92090630591. 3
92090630592. 4



Question Number : 48 Question Id : 9209067737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) =W #E | (2) FIEEA HE|
(3)  FEcA |E | (4) HTEIEA |8 |
Options :

92090630589. 1
92090630590. 2
92090630591. 3
92090630592. 4

Question Number : 48 Question Id : 9209067737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) ®WEed HE | (2) FSeied HE |
(3)  FEA TR (4) HYFEeA HE |
Options :

92090630589. 1
92090630590. 2
92090630591. 3
92090630592. 4

Question Number : 49 Question Id : 9209067738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i safa faamfeaam-

(1)  9=sEM] (2) SqasEM
(3)  HAHSEA | (4) ZIHSEM
Options :

92090630593. 1
92090630594. 2
92090630595. 3



92090630596. 4

Question Number : 49 Question Id : 9209067738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i wafa faamfeaam-

(1)  "asEM (2) =qdserRI
(3) HEHSEMA| (4) TEWESEM
Options :

92090630593. 1
92090630594. 2
92090630595. 3
92090630596. 4

Question Number : 49 Question Id : 9209067738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=it wafa faamfeaam-

(1)  9=msEM] (2) =qdsEF
(3)  weEsEM| (4) TIHSEM |
Options :

92090630593. 1
92090630594. 2
92090630595. 3
92090630596. 4

Question Number : 50 Question Id : 9209067739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEHgEEr gfass—e=: #ie-

(1) aeEeEdatsE: (2) FEMPH TEEEY |
(3)  EramE (4) FEA F: T l
Options :

92090630597. 1



92090630598. 2
92090630599. 3
92090630600. 4

Question Number : 50 Question Id : 9209067739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEHgEEr gfass—e=: #ie-

(1) aeEeEdatsE: (2) FEMPH TEEEY |
(3)  FEramE (4) FEA F: T l
Options :

92090630597. 1
92090630598. 2
92090630599. 3
92090630600. 4

Question Number : 50 Question Id : 9209067739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HarfAgeETEr gfassm=: sfe-

(1)  dTeETsEd aifaE: (2) =P TREEN |
(3) At (4) HEq A fA |
Options :

92090630597. 1
92090630598. 2
92090630599. 3
92090630600. 4

Question Number : 51 Question Id : 9209067740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘i F AR

(1) Al | (2) YA |
(3) I | (4) AT |
Options :

92090630601. 1
92090630602. 2
92090630603. 3
92090630604. 4

Question Number : 51 Question Id : 9209067740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘i F AR

(1) Al | (2) YA |
(3) I | (4) AT |
Options :

92090630601. 1
92090630602. 2
92090630603. 3
92090630604. 4

Question Number : 51 Question Id : 9209067740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘i F AR

(1) Al | (2) YA |
(3) I | (4) AT |
Options :

92090630601. 1
92090630602. 2
92090630603. 3
92090630604. 4



Question Number : 52 Question Id : 9209067741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A TG TR A -

(1) S (2) =E: |
(3  ToErEE: (4) TrE: |
Options :

92090630605. 1
92090630606. 2
92090630607. 3
92090630608. 4

Question Number : 52 Question Id : 9209067741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AU HTIE A TR A -

(1) SR (2) =AmME: |
(3)  ToEEE: (4) HEW: |
Options :

92090630605. 1
92090630606. 2
92090630607. 3
92090630608. 4

Question Number : 52 Question Id : 9209067741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A g AT A -

(1) SfEFE: (2) =AmE: |
(3)  ToEmEE:| (4) | |
Options :

92090630605. 1
92090630606. 2
92090630607. 3



92090630608. 4

Question Number : 53 Question Id : 9209067742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIAEAA TR TEE: -

(1)  HEIEE: (2) Toemmemi me: |
(3 TE: | (4) F=2: |
Options :

92090630609. 1
92090630610. 2
92090630611. 3
92090630612. 4

Question Number : 53 Question Id : 9209067742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAEA A T AT T Hiea-

(1)  HEvT=EE: (2) Taemarymi me: |
(3)  WEL: | (4) F=R: |
Options :

92090630609. 1
92090630610. 2
92090630611. 3
92090630612. 4

Question Number : 53 Question Id : 9209067742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHATEA AT AT T -

(1) =E=EE: (2) feremarsmi ME: |
(3)  HEME: (4) F=2:
Options :

92090630609. 1
92090630610. 2



92090630611. 3
92090630612. 4

Question Number : 54 Question Id : 9209067743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘T SHfataan safy dmmre

(1)  fafamn (2) fafaan)
(3)  =dfae| (4) vafas
Options :

92090630613. 1
92090630614. 2
92090630615. 3
92090630616. 4

Question Number : 54 Question Id : 9209067743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“qra’ wfafaar wafa s

(1) Ffaan) (2) fafaan)
(3)  =dfan| (4) wafasn
Options :

92090630613. 1
92090630614. 2
92090630615. 3
92090630616. 4

Question Number : 54 Question Id : 9209067743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“qrE sfafgen wafa e 7

(1 fafasn (2) fafamm)
(3) = (4) uafm



Options :

92090630613. 1
92090630614. 2
92090630615. 3
92090630616. 4

Question Number : 55 Question Id : 9209067744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grefaTEATET Watd-

(1)  37eEy | (2) F=IEEH |
(3) 37 | (4) HI=ETEEY |
Options :

92090630617. 1
92090630618. 2
92090630619. 3
92090630620. 4

Question Number : 55 Question Id : 9209067744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘reffarETET Wafd-

(1) e (2) FwEE |
(3) I | (4) FEr=ETEE |
Options :

92090630617. 1
92090630618. 2
92090630619. 3
92090630620. 4

Question Number : 55 Question Id : 9209067744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘sprelffarEATaT et -

(1) = (2) g |
(3) 37 | (4) HI=ETEE |
Options :

92090630617. 1
92090630618. 2
92090630619. 3
92090630620. 4

Question Number : 56 Question Id : 9209067745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  "=9rm (2) I |
(3) T | (4) Tafiams)
Options :

92090630621. 1
92090630622. 2
92090630623. 3
92090630624. 4

Question Number : 56 Question Id : 9209067745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  H=rr (2) TARIUTYTTE |
(3) AT | (4) fafaurm= )
Options :

92090630621. 1
92090630622. 2
92090630623. 3
92090630624. 4

Question Number : 56 Question Id : 9209067745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(1)  W=arm=E (2) TARTUTITTE |
(3)  refEEETTE | (4) fafiaanme |
Options :

92090630621. 1
92090630622. 2
92090630623. 3
92090630624. 4

Question Number : 57 Question Id : 9209067746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘FHEEmEE S f&fg’ e

(1)  wEmfE: (2y Tafmmah:
(3)  Ieaietate: | (4) =faewmfata: |
Options :

92090630625. 1
92090630626. 2
92090630627. 3
92090630628. 4

Question Number : 57 Question Id : 9209067746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘wHEETEE S fafa wafa e

(1)  vEE: | (2) fafmmiafy: |
(3)  Ieafafafe: | (4) wfrfafa: |
Options :

92090630625. 1
92090630626. 2
92090630627. 3
92090630628. 4



Question Number : 57 Question Id : 9209067746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘FHEEWEE S fafg’ st

(1)  wEwrfE: | (2) TafmEmiafa: )
(3)  Iegtatare: (4) sfawmfafa: |
Options :

92090630625. 1
92090630626. 2
92090630627. 3
92090630628. 4

Question Number : 58 Question Id : 9209067747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘9 UFTE e 3 e IgEm 7

(1)  giEEEmEn: | (2) Fremfas:
(3)  wfasnfayg: (4) wEmfE: |
Options :

92090630629. 1
92090630630. 2
92090630631. 3
92090630632. 4

Question Number : 58 Question Id : 9209067747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘99 g e 3 9 3gE 7

(1)  TiEEEmE: | (2) framfae: |
(3  wfasrfEyg: (4) wEmE: |
Options :

92090630629. 1
92090630630. 2
92090630631. 3



92090630632. 4

Question Number : 58 Question Id : 9209067747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U UATEl Me 3fa FE IgE 7

(1)  oiEEEmE: | (2) TrEmfEE:
(3)  wfarfEy: ) (4) wEmiE: |
Options :

92090630629. 1
92090630630. 2
92090630631. 3
92090630632. 4

Question Number : 59 Question Id : 9209067748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) F=gH (2) AT
(3) HWEEHE (4) FoEIEHE
Options :

92090630633. 1
92090630634. 2
92090630635. 3
92090630636. 4

Question Number : 59 Question Id : 9209067748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1) F=E (2) AqETH

(3) HWEE=E (4) FOEIHEH

Options :



92090630633. 1
92090630634. 2
92090630635. 3
92090630636. 4

Question Number : 59 Question Id : 9209067748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) e (2) AqHE=
(3) EWEEE (1) FoEIEEE
Options :

92090630633. 1
92090630634. 2
92090630635. 3
92090630636. 4

Question Number : 60 Question Id : 9209067749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geEEugEEr HEE: Yai -

(1) w2 (2) =W
3 EER! (4) 91
Options :

92090630637. 1
92090630638. 2
92090630639. 3
92090630640. 4

Question Number : 60 Question Id : 9209067749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HarfTgETaR FEE: A

1 = (2) =\
(3) EER (4) 9=
Options :

92090630637. 1
92090630638. 2
92090630639. 3
92090630640. 4

Question Number : 60 Question Id : 9209067749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAMHITGETER HamEa: qai-1-

H = (2) =W
(3 I (4) w4l
Options :

92090630637. 1
92090630638. 2
92090630639. 3
92090630640. 4

Question Number : 61 Question Id : 9209067750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIYWARETE B 77

i1 1875 (2) 2075
(3) 1975 (4) 2500

Options :

92090630641.
92090630642.
92090630643.
92090630644.

AW N~

Question Number : 61 Question Id : 9209067750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HIYWARETE W= JiA 7

(1) 1875 (2) 20

=]
b |

(3) 1975 (4) 2500

Options :

92090630641.
92090630642.
92090630643.
92090630644.

AW N =

Question Number : 61 Question Id : 9209067750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHIYASTEE] g1 =i ?

(1) 1875 (2) 20

=1
o

(3 1975 (4) 2500

Options :

92090630641.
92090630642.
92090630643.
92090630644.

AW N~

Question Number : 62 Question Id : 9209067751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRV TG 95 F: 7

(1)  Hudde: | (2) d9de: |
(3)  FoEgIE: | (4) FmWEE: |
Options :

92090630645. 1
92090630646. 2
92090630647. 3
92090630648. 4



Question Number : 62 Question Id : 9209067751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRV g 98 #: 7

(1)  HgEEE: ) (2) woEE: |
(3  FoEEEE: | (4) @R |
Options :

92090630645. 1
92090630646. 2
92090630647. 3
92090630648. 4

Question Number : 62 Question Id : 9209067751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRV TG 95 F: 7

(1) wuEEE: | (2) aEe: |
(3)  FoEIEeE: | (4) =R |
Options :

92090630645. 1
92090630646. 2
92090630647. 3
92090630648. 4

Question Number : 63 Question Id : 9209067752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH dgH I=ANIHG: TPRIE:

(1) FoETEHE | (2) IEEIETE
(3)  FUEEeE | (4) HEEHE |
Options :

92090630649. 1
92090630650. 2
92090630651. 3



92090630652. 4

Question Number : 63 Question Id : 9209067752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH Ao FSANIG: APRIG:

(1) FoETEEHE | (2) YA
(3) wudded | (4) HHEEH |
Options :

92090630649. 1
92090630650. 2
92090630651. 3
92090630652. 4

Question Number : 63 Question Id : 9209067752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH 45 ITANIIE: AT

(1) FoETEEHE | (2) IEEIEEE
(3)  wWuEEEE | (4) HWEEHE |
Options :

92090630649. 1
92090630650. 2
92090630651. 3
92090630652. 4

Question Number : 64 Question Id : 9209067753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A waf=-
(1) ®HI (2) 9|
(3 EE | (4) ==

Options :



92090630653. 1
92090630654. 2
92090630655. 3
92090630656. 4

Question Number : 64 Question Id : 9209067753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHEE: yab=-

(1) =9I (2) FE|
(3 = (4) =
Options :

92090630653. 1
92090630654. 2
92090630655. 3
92090630656. 4

Question Number : 64 Question Id : 9209067753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HoEE: yaf--

(1) =9I (2) 3|
(3) e (4) =@
Options :

92090630653. 1
92090630654. 2
92090630655. 3
92090630656. 4

Question Number : 65 Question Id : 9209067754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bty S w7
(1) FoEEE | (2) YEEEAAE|
(3)  FgEEE (4) HWEL

Options :



92090630657. 1
92090630658. 2
92090630659. 3
92090630660. 4

Question Number : 65 Question Id : 9209067754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v i SRR a7
(1) FoEEE | (2) YEEEAAE|
(3)  wgEEg | (4) HWH|

Options :

92090630657. 1
92090630658. 2
92090630659. 3
92090630660. 4

Question Number : 65 Question Id : 9209067754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v it SRR awd 7
(1) FoEgEE | (2) YEEEAAG
(3)  gEEe | (4) W

Options :

92090630657. 1
92090630658. 2
92090630659. 3
92090630660. 4

Question Number : 66 Question Id : 9209067755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: Hugd faed, vq A (A) 5, R 7= Fvm (R) S5
AFE (A):  HEEE W |

FAUM (R) : TEfHU Tt RS HiUd o9 HEeE gEEwrEn wEial
I FUAHIAE S 7y fawery wfay s

() ()W (R) 399 FlE T (R), (A) 0963 g saredi |

(2) (A R) I T, [Fg R), (A) 7@ T2 =R J w00

(3) (A wewfE, f6 (R) smemfE)|

(4)  (A) sEawfE, e (R) FewiE)

Options :

92090630661. 1
92090630662. 2
92090630663. 3
92090630664. 4

Question Number : 66 Question Id : 9209067755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: Hugd faed, vq A (A) 5, R 7= Fvm (R) S5
AR (A):  HEEE A

+1o (R) T YAsAieH WRTITS FiUd g7 AWdes gEEenEn: Jat|
T FA St Ty fasery wofaa s A

(1) () vy (R) 394 Femied T (R), (A) S0 ] Al f)

(2) (A wEq (R) 3w gamfeE, & (R), (A) 508 520 =3rel 3 S|

(3) (A wewfE, f6 (R) smemfE)|

(4)  (A) sEawfE, e (R) FewiE)

Options :

92090630661. 1
92090630662. 2
92090630663. 3
92090630664. 4

Question Number : 66 Question Id : 9209067755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HY: Fugd [, v A (A) S5, TR 7= FvE (R) S
AFEST (A):  HEEE W

+oH (R) : HEfU TAsAteH WRTATE FiUd a9 aMaee gEaenEn: Jat|
T FAIA 3t gy fasery wnfaa s

(1) (A wEq (R) 394 Haauied wd (R), (A) 3096 & =l HAfd|

@ (W) R) 3 e, 5 R), (A) 39 T2 =@ J wf

(3) (A wemE, B R) smemE)

(4)  (A) s, e (R) SewiE|

Options :

92090630661. 1
92090630662. 2
92090630663. 3
92090630664. 4

Question Number : 67 Question Id : 9209067756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY FUgd e, g s (A) #E, SR 7= S (R) #E)
AU (A) . ‘FiYEETE AEEE S |
wo (R) HWEE TEET |
IHEF HYEE A1 gy fawedy wqfaay I oA
(1) (A maq (R) 399 gemied wd (R), (A) S0 99 S i)
(2)  (A) vEq (R) 399 5w, & (R), (A) 307 990 =Rl 9 #0601
(3) (A 5w, e (R) S|
(4)  (A) smEamiE, e (R) 9ewfE)

Options :

92090630665. 1

92090630666. 2

92090630667. 3
92090630668. 4



Question Number : 67 Question Id : 9209067756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 FHagd aod, v sfiereey (A) wifE, 3R 7= S (R) S
AF (A) . FIYEETE "EEE S |
o (R) ‘HWEE TAATE |
ITF FEEIHE A gy fawedy agfaay 3 A
(1) (A) waw (R) 3vd gemiea wE (R), (A) s 59 sl #iid)
(2) (A) vy (R) 794 "eamfe, T (R), (A) 3099 9= =l 3 |
(3)  (A) 5w, & (R) FHEEE|
(4)  (A) wEEEE, e (R) 9]

Options :

92090630665. 1

92090630666. 2

92090630667. 3
92090630668. 4

Question Number : 67 Question Id : 9209067756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 Fugy faed, v sfimee (A) S5, 3R 7= s (R) #AfE)
HiAFLAY (A) :  HRIYEETE AT HE |
Fo (R) |ES M |
i w5y e waf I
(1) (&) (R) 399 acawied o (R), (A) 50009 @ sAme] i)
(2)  (A) wEY (R) 398 geanien, o (R), (A) Sooea @] sqvedi A i
(3)  (A) 5w, & (R) FeemiE)
(4)  (A) smEEEE, g (R) 98t

Options :

92090630665. 1

92090630666. 2
92090630667. 3



92090630668. 4

Question Number : 68 Question Id : 9209067757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY: Fugy HEd, TR e (A) S, 3 T S0 (R) #E)

Afawa (A) . T fafaa waf=)
AV (R) : Tt = e afvid g9ad |
IRF FYTEITAE el gny faweny Aqfaay 3w faga)
(1)  (A) T (R) 399 T T (R), (A) 30060 9] AT 01|
(2)  (A)wEH (R) 399 Haawie, 4 (R), (A) 50958 9997 ARl 9 F:0d|
(3) (A) Bemfe, g (R) smmmie|
(4)  (A) sEEwE, B (R) SeEtE|
Options :
92090630669. 1
92090630670. 2

92090630671. 3
92090630672. 4

Question Number : 68 Question Id : 9209067757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY FYAgd oA, v sifisryEm (A) wifE, 3 a= wEy (R) S

Al (A) . T fafaa s

HAH (R) : T = At afvie g9ad |

IR FUARIAE Wl gy ey Agfaay 3w faga)

(1) (A) = (R) 398 Feanfed w6 (R), (A) 30964 @e] samed) |

(2)  (A)wEd (R) 399 Hawie, &4 (R), (A) 50958 9990 AR T F:00d|
(3) (A "o, e (R) semamfe|

(4)  (A) sEawE, e (R) SemiE|



Options :

92090630669. 1
92090630670. 2
92090630671. 3
92090630672. 4

Question Number : 68 Question Id : 9209067757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY FIgd foed, vHH sifieReEy (A) 31fE, 3 #3 wEv (R) A0

Afawa (A) . T fafaa waf=)
AV (R) : Tt = e afvid g9ad |
i Fem e 2y e AR S
(1) (A) T (R) 39 Temfed 05 (R), (A) I T007] AT |
(2)  (A)wEH (R) 399 Haawie, 4 (R), (A) 50958 9997 ARl 9 F:0d|
(3) (A) Bemfe, g (R) smmmie|
(4) (A yEEmtE, 4 (R) w=mfE)
Options :
92090630669. 1
92090630670. 2

92090630671. 3
92090630672. 4

Question Number : 69 Question Id : 9209067758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥9: wugd fed, v afiwee (A) 6@, TR 7= S (R) S|

AfUHTAY (A) :  YEeEader HrefamrE ey faae |

HUH (R) : HIWEEH HIYWRE] Hoey e

I FEEIAE HG gy fasedy Aqfaay W A

(1) (A) Y (R) 39 §39fd 05 (R), (A) 968 &0 st if |

(2)  (A) wEq (R) 399 5avi&E, 7 (R), (A) 5005 990 SR 9 F:id|
(3) (A) srmie, o (R) semmte |

(4)  (A) sEEwfE, fFg (R) 9wt
Options :
92090630673. 1
92090630674. 2

92090630675. 3
92090630676. 4

Question Number : 69 Question Id : 9209067758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY: FHYAgd faed, ven sIheeee (A) wife, 3R T3 SR (R) SfE)

AHFE (A) 1 IEeAdaeH mrafeTamE wemay fave
FAvH (R) - HIHEEH HIYHENE HewRy faweE
ITYF FYTAAE G| gy [hody Hqaaq I oA
(1)  (A) maq (R) 394 Tedie vd (R), (A) 30369 T = |
(2) (A) v (R) 394 Heanfe, & (R), (A) 30098 99 =med] 3 &t |
(3)  (A) 5w, 9 (R) s@@EEE)
(4)  (A) wEmwfE, e (R) 9ewiE)
Options :
92090630673. 1
92090630674. 2

92090630675. 3
92090630676. 4



Question Number : 69 Question Id : 9209067758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9: FyAgd faed, v sfimreen (A) wifE, 3 7= wEm (R) s

AHFT (A) . IFeEdeE ATAfAeEl Hey fawe |

FUH (R) : HIWEEH HIYWRE] HEy e

I FYTAIHE Wl gy fawedy sqfaaq I oA

(1)  (A) TEq (R) 399 T30 U9 (R), (A) 30369 HE] =0T 0|

(2)  (A) mEq (R) 399 5w, 4 (R), (A) 50098 997 =0T 9 F:0d|
(3) (A wrwiE, e (R) semawie |

(4)  (A) sEEEE, B (R) 9wt
Options :
92090630673. 1
92090630674. 2

92090630675. 3
92090630676. 4

Question Number : 70 Question Id : 9209067759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wu: FuRE A, v wimee (A) #E, SR 7= S (R) S5

FlFET (A):  AgHS FEEEd faEd |

FRUH (R) : Aydag Fve faa |

FwH Femae S gy faeey wgfaa I e

(1) (A) wEd (R) 394 Hnied ud (R), (A) $0060 Fe] =ATedi i |

(2) (AT (R) 39 FmtE, g (R), (A) 309700 w2 =rean 7 =4l
(3) (A wemiE, g (R) st |

(4)  (A) v, R (R) 9wt

Options :
92090630677. 1



92090630678. 2
92090630679. 3
92090630680. 4

Question Number : 70 Question Id : 9209067759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y: Fogd Taed, ven sifireeem (A) wifE, 3R 7= S (R) S

wfuweEs (A): A9 HweEed faed |

HUH_ (R) : WG HEH faa |

ITF FoAwa i gy fawey wafaa s )

(1) (A @Y (R) 3949 99T @ (R), (A) 50050 5O =01 F1d |

(2) (A wEY (R) 399 "ot fF (R), (A) S5 9w =med  Hfdl
(3) (A 5w, e (R) e

(4)  (A) ¥¥EEHEE, e (R) 9t

Options :

92090630677. 1
92090630678. 2
92090630679. 3
92090630680. 4

Question Number : 70 Question Id : 9209067759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WY: Fugd [, veq s (A) #6E, R 7= S (R) S5

FiweRy (A):  Fgde FeEEEd e |

HIH (R) : SgEeg Fwer fam |

I FuAE 91 Ty fawey wfEey I Al

(1) (A) @ (R) 39 F(E T (R), (A) T FE] =161 HU0fd |

(2)  (A) TEH (R) 399 5w, 4 (R), (A) 596 F90] ARl 7 F:0d|
(3) (A 5w, e (R) e

(4)  (A) ¥¥EEHEE, e (R) 9t

Options :

92090630677. 1
92090630678. 2
92090630679. 3
92090630680. 4

Question Number : 71 Question Id : 9209067760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¥9: FHgAgd faeA, v sfiereem (A) w1fE, 3R 7= S (R) S

e (A):  FEEAAEEE GEe T8 g |

FRH_ (R) : TR e Eed HE §Rag |

I Fuia A9 gy fawey gty I Al

(1) (A vEq (R) 399 Hemfe g (R), (A) S50 T3] AT Ui

(2) (A vEy (R) 394 gewfeE, T (R), (A) S 920 =1l 3 i)
(3) (A "=wiE, 4 (R) seewE)

(4)  (A) ¥=EEwE, g (R) 9wt
Options :
92090630681. 1
92090630682. 2

92090630683. 3
92090630684. 4



Question Number : 71 Question Id : 9209067760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
w4: Fuagd faed, vy sfireem (A) #1fE, 3R 7= Fm (R) s1fE)

Afpe (A): ' FIEEAAEE S 58 T |

F (R) : "IERTTEE | YA ae HE deEg |

I HerEIE 1 oy fawery wmfeey I A

(1)  (A) Wy (R) 394 Geanfe U (R), (A) §0969 900 =41 i)

(2) (A wEq (R) 3w "eawfe, & (R), (A) 307 @0 =mel 4 i)
(3) (A wEmiE, e (R) e |

(4) (A s, R (R) 9wt
Options :
92090630681. 1
92090630682. 2

92090630683. 3
92090630684. 4

Question Number : 71 Question Id : 9209067760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: Fugg fed, vey sfieeeEy (A) A4, 3R 73 F0 (R) 31

AMETT (A):  EIEEAAITEE WG HE g |

R (R) : TR IEASHe] W8 geEgy |

ITF FYTHINE A1 gy [edy Hgfaaq I A

(1) (A wEHq (R) 398 Hawfe w6 (R), (A) $00%0 He] sAneaA] &id|

(2) (AT (R) 39 T, T (R), (A) 39788 HR=] =0 7 07|
(3) (A "=, 9 (R) @)

(4) (A e, R (R) 9ewfE)

Options :
92090630681. 1
92090630682. 2



92090630683. 3
92090630684. 4

Question Number : 72 Question Id : 9209067761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7Y HyAgd faed, v sfimreem (A) wifE, 30 7= S (R) A
AfgwgAy (A) :  STHEIETERT FieaaT 9 e wafd )
FUH (R) : HAUIEETAT FAR: F9aH JFiedamEl F5eeH i |
(1) (A (R) 39 FHiE w9 (R), (A) 5980 900 SARAT 1|
(2)  (A) wEq (R) 394 "eaate, & (R), (A) S8 99 =l 3 =t |
() (A) Bemf, e (R) sEewie |
(4)  (A) wEEEE, B (R) g

Options :

92090630685. 1

92090630686. 2

92090630687. 3
92090630688. 4

Question Number : 72 Question Id : 9209067761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: wUgE faed, v wfaweey (A) #fE, 37 73 S (R) #iE)

sfepey (A) . STuehgETYE SaferEy w6 faad wafa )
FH (R) : HAUHIGETHR FAR: FaTaH Jaeigdara ges Hd |
I FYTEHE Ag) 20y faweuy wqfaeq I A
(1) (A (R) 39 Feied 05 (R), (A) §0969 &0 S0 i |
(2)  (A) "Eq (R) IWd dcmiE, g (R), (A) 5% 90 =R 3 &t
(3)  (A) "5emfE, 6 (R) seemiE)
(4)  (A) FEEEE, T (R) 9EEtE|
Options :
92090630685. 1
92090630686. 2

92090630687. 3
92090630688. 4

Question Number : 72 Question Id : 9209067761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: wugd faed, g wfiweEn (A) 3, 37 73 S (R) S

Al (A): SO Ffeaa w8 fead vafa |

FE (R) : AT IEETaR FAR: Fa94W JaATgAEE Soee Frd |
I FYEIHE w4 guy faweuy wgfaay I A

(1) (A" (R) 399 S0fe wF (R), (A) 300 90 =A7ed] i)
(2 (AT (R) 3w FEfE, g (R), (A) 5% 999 = 3 Fi)
(3) (A) gemf, e (R) sEewfe |

(4) (A swemtE, F R) gemE)

Options :

92090630685. 1

92090630686. 2

92090630687. 3
92090630688. 4



Question Number : 73 Question Id : 9209067762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ettt sfimgai vt -

(A)  HWEe Afdehgd faad |

(B) \mEg T H#E |

(C)  wmwEe "vEan |f= |

(D)  |meE gfe=ger: |f)|

(E)  &Ma% goord: ||

T 3w o -
1) (A, (B 2)  (B). (C)

3y (C), (D) (4) (D), (E)

Options :

92090630689. 1
92090630690. 2
92090630691. 3
92090630692. 4

Question Number : 73 Question Id : 9209067762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafamts sfimamfs 5fF -
(A) HWde Afawgd faad |
(B)  HmEg T A |

(C)  HmEE Hvgen |f= |
(D)  \WEE Tie=e: ||
(E)  #mEg Foer: ||

wqfaay Im fa9d -

(1) (A).(B) (2)  (B), (C)

3  (C), (D) (4) (D), (E)
Options :

92090630689. 1
92090630690. 2
92090630691. 3
92090630692. 4

Question Number : 73 Question Id : 9209067762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafefamty st afF -

(A) HmEe wfega famd |

(B) &M Y AfE |

(C)  HMag Hgen |f= |

(D) =W ait=er ||

(E)  &Ma% goord: ||

wfaa W o -
M @ ® @ (B).(©
(3 (0, (D) (4) (D), (E)



Options :

92090630689. 1
92090630690. 2
92090630691. 3
92090630692. 4

Question Number : 74 Question Id : 9209067763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fefafamt s afa -
(A)  wErEeEy fawE e -
(B)  werry fawan faaa - wiwn)
() wmErr=y fawa fame -desaae |
(D)  wrEvE-gy fava faem - Ay |

(E)  wmEme-ay faw faed - w=

i I faga -

(1) (A (B) (2) (B), (C)

3 (0, (D) (4) (D), (E)
Options :

92090630693. 1
92090630694. 2
92090630695. 3
92090630696. 4

Question Number : 74 Question Id : 9209067763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefam stz afF -

(A)  wEEy e faea - weE)

(B)  wEvRry fawE faed - when)
(C)  wmEvmey fawa faem - weeaas |
(D) wEwEay faw faem - waafafy: |
(B)  wmeom-ey fawa faed - 7=

wafery 3w foa -

(1)  (A).(B) (2) (B), (C)

(3) (C), (D) (4) (D), (E)
Options :

92090630693. 1
92090630694. 2
92090630695. 3
92090630696. 4

Question Number : 74 Question Id : 9209067763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FreferfaaT sfasa af= -

(A)  wTEvE-gy fava faen - weEn

(B)  wmevrry fawE faed - wiw)
(C)  wrEvmeey fawa faem - wreeas |
(D) wrErEy o faed - et )
(B)  wmavm-ey fawe famd - 7=

Fgfa I o -

(1)  (A).(B) (2) (B), (C)

(3) (C), (D) (4) (D), (E)
Options :

92090630693. 1



92090630694. 2
92090630695. 3
92090630696. 4

Question Number : 75 Question Id : 9209067764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfefamtz sfvwants v -

(A)  TEHAATE Fided AvEgd |

(B)  ThaAuIaaEd AT JwEgH |

(C)  Feha-AuIaeTEd HIYHIEd] JrEgHT |

(D) FEaAwirE HvewE fFEgg |

(E)  Fspda=urioemed ger |f= )

wfee 3w foga -

(1) (A). (B) (2) (B). (O)

(3  (C), (D) 4) (D), (E)
Options :

92090630697. 1
92090630698. 2
92090630699. 3
92090630700. 4

Question Number : 75 Question Id : 9209067764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(&)  FpAATICIE FIHe qE |

(B)  Fega-AuTiauTEd Hreed HgH |

(C)  FhaAwaeTeEd HIuemEa qEgae |
(D)  Fena=TgeEd wveswmE fFEen |
(E)  Fapa=riaemed g |f= )

agfes 3w o -

(1) (A).(B) (2) (B),(C)

(3)  (C), (D) (4) (D), (E)
Options :

92090630697. 1
92090630698. 2
92090630699. 3
92090630700. 4

Question Number : 75 Question Id : 9209067764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tttt sfrwani 5f= -

(A)  FeRAATOTE T T |

(B)  FepANIIRGA AN g |

(C)  =ha=Awiaeed HIYuamEe JEgaie |
(D) FEaAgIeTEd FvswmE FEan |
(E)  Feha=auTiasmsd Faa |- |

wnfa 3w fod -

(1) (A).(B) (2) (B)(©)

(3 (C), (D) (4) (D), (E)
Options :

92090630697. 1



92090630698. 2
92090630699. 3
92090630700. 4

Question Number : 76 Question Id : 9209067765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et st wfF -
(A) dIvdes Hfem FfE - dEEeiEtE |
(B) \wdeE Higa Ff - mEEEied |
(C)  \wege Hfea A - sArsEeTEEEd |
(D)  @WeEeE Higa AFa - TUTEHEE(E |
(E)  wweaee sfgan sfen - itz |

e 3 e -
(1} (A).(B) (z) (B)(C)
(3) (B (D) (4) (D), (E)
Options :

92090630701. 1
92090630702. 2
92090630703. 3
92090630704. 4

Question Number : 76 Question Id : 9209067765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trfafam staeAT- | -

(A)  AmEEE Hiem AfE - S |
(B) wwaeE ®fem wfeq - gTaEiEa |
(C) owaes dfem sifE - smvaemaAEhE |
(D)  \WEEE Hiea A - oA e |
(E) @ e s - Sftestz |

wfa I faga -

(1) (A). (B) (2) (B),(0)

(3) (B), () (4) (D), (E)
Options :

92090630701. 1
92090630702. 2
92090630703. 3
92090630704. 4

Question Number : 76 Question Id : 9209067765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefafaar afawgni 5fF -
(A) dWee HfEm wiEa - At |
(B) wmagE sHfea A - wgrEEted |
(C)  wAwEgeE wfea AfE - AT |
(D)  @WeeE HfEa #iEa - TS E |
(E) wmaee |fem s - St |

iy 3w faga -

(1) (A). (B) (2) (B),(C)

(3) (B), (D) (4) (D), (E)
Options :

92090630701. 1



92090630702. 2
92090630703. 3
92090630704. 4

Question Number : 77 Question Id : 9209067766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffafamf st wf= -

(A)  IEE RV A - FHSuEv |

(B) dde= FEUY A - TAILEE |
(C) FFH5H FEIH e - FidiaehETeT |
(D)  TFHeH R A - SWfEEEETE |
(E) agee savm Afe - Meesmeom |

Hxf=ay 3w A -
(1) (A), (B) 2) (B),(C)
(3 (C), (I 4y (D), (E)

Options :

92090630705. 1
92090630706. 2
92090630707. 3
92090630708. 4

Question Number : 77 Question Id : 9209067766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trafafamt st 2t -

(A) FFdeE FEUH A - FSHEI |

(B) dde= FEUY A - TAILEE |
(C) Fde FEvH Afed - FahEE |
(D)  IdeE FEUH A - AWfEgHETE |
(E) a9 @0 516 — TasmaEo |

agfaay I fogd -

1) A).E) (2) (B), ()

(3) (C), (D) (4) (D), (E)
Options :

92090630705. 1
92090630706. 2
92090630707. 3
92090630708. 4

Question Number : 77 Question Id : 9209067766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Trfafam staeAT- | -
(A) FFdeE FEUH A - FSHEI |
(B) dde= FEUY A - TAILEE |
(C) Fde FEvH Afed - FahEE |
(D)  IdeE FEUH A - AWfEgHETE |
(E) a9 @0 516 — TasmaEo |

Hxf=ay 3w A -
(1) (A (B) (2) (B (C)
(3 (C). (D) (4) (D), (E)

Options :



92090630705. 1
92090630706. 2
92090630707. 3
92090630708. 4

Question Number : 78 Question Id : 9209067767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ffefaa sfawgni 5f= -

(A)  HYEEA HE GG TEAE - TR |
(B) ®MdGA e dvag TeaeE - M Raea |
(C) | ¥E qrag Hi - FefaeaEmi |
(D)  AWIEA HE 9968 TRHE - IerRAEE |
(E)  ®Weed HE drag Teaed ~ Aeaciaqaad |

afaay 39 o -
(1) (A, (B) (2) (B),(C)

(3) (C). (D) (4) (D), (E)

Options :

92090630709. 1
92090630710. 2
92090630711. 3
92090630712. 4

Question Number : 78 Question Id : 9209067767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A)  HEEeA HE g TEAHE - TSR |
(B)  HYaEd HE €S TEAHE - TMerEagEy |
(C)  HMeeE H8 g HH - A-erEErE |
(D)  HEEeA HE HEE TEAHH - ATYEEaEE |
(E) ¥MdeA 98 9983 TEHE - AvEea g |

a3 faga -

(1) (A)(B) (2) (B)(©)

(3  (C), (D) (4) (D), (E)
Options :

92090630709. 1
92090630710. 2
92090630711. 3
92090630712. 4

Question Number : 78 Question Id : 9209067767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FefafEa st 5f= -

(A) WA HE G TR - TR |
(B)  ®Mdcd HE HYEE TEAHA - TITHeEaEE |
(C) @A U8 T3 I - A |
(D)  HHEST HE dWE2 TEAES - A |
(E) ®Mded 58 99Eg TEaHd - Avaea g |

agfeem 3w o -
M @A), B @ ®.©

(3) (C), (D) (4) (D), (E)



Options :

92090630709. 1
92090630710. 2
92090630711. 3
92090630712. 4

Question Number : 79 Question Id : 9209067768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TFefafaa st 5f -

(A) AT YeaHfE - HAEA oA |
(B)  FqdeE Yeugmie — SRR |
(C)  T9deE Ioadd T - ATarEseaga |
(D) HeECE Jewgmie - AU |
(E) Hmaee Joaanied - Hieaegeag=y |

HHf=Eaq I T -
(1 (A). (B) (2) (B), (C)

(3 (C), (D) (4) (D), (E)

Options :

92090630713. 1
92090630714. 2
92090630715. 3
92090630716. 4

Question Number : 79 Question Id : 9209067768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafaat wfwraf w1 -

(A) I oA - A |
(B)  AqdcH IeweAnied - TREe |

(C) e Yo T - e |
(D) e Framied - S |
(E)  HIH=EE JoaaEnied — SHicaa-eead=y |

iy 3w foqa -

(1) (A).(B) (2) (B),(C)
3 (O, (D) (4) (D), (E)
Options :

92090630713. 1
92090630714. 2
92090630715. 3
92090630716. 4

Question Number : 79 Question Id : 9209067768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefafami stawai 5f -

(&) FIICH Yo - HAEACEE |
(B)  FFHCH Yol - ANEeEa |

(C)  FFHTE Youd e — Seearea |
(D) e oAt ~ AT |
(E)  H=EE JoaeEmied — SHreareeaeE |

oAy I o -
(1) (A), (B) (2) (B, (C)
(3) (C). (D) {4y (I, (E)

Options :



92090630713. 1
92090630714. 2
92090630715. 3
92090630716. 4

Question Number : 80 Question Id : 9209067769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefefaaf sfimwgariy |t -

(A) ‘vl gefRfyEE s e st o AyEEeE e o |
(B) ‘iR qifed a9 cefeae Svdee yuHl B |

(C) 39 dAreical 994 ¥g 291 9 31 ATEeE 99Nl 5 |

(D) e EREE A e 3 FeEEEeE eE 0 |

(E) ‘#i=dE qifed a9 daqierey 3 geeagHes vaH 54 |

w3 foa -

(1) (A), (B) Fae (2) (B). (C) %aem,
3 (0), (D) FaeH (4) (D), (E) Faem,
Options :

92090630717. 1
92090630718. 2
92090630719. 3
92090630720. 4

Question Number : 80 Question Id : 9209067769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frefefgar #feamf af= -

(A) ‘vl gefRiEE A e S o AYEEeE U 0 |
(B)  ‘w=TE qiifed g ganfeey Foaee eHl T |

(C) ‘99 Toisieal 9199 ¥4 1 9 3 AreeE v 69 |

(D) el gERiE A wa 3 FeEsEeE vuE 1= |

(BE) ‘wfEdiE gifsd a9 gagfeaem) s weemsEes vgw o= |

wgfeTy 3w o -

(1) (A), (B) %=em, (2 (B), (C) Faem,
(3) (O, (D) F=em, (4) (D), (E) Faem
Options :

92090630717. 1
92090630718. 2
92090630719. 3
92090630720. 4

Question Number : 80 Question Id : 9209067769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefafa st |1t -

(A) ‘v SERiTEE A a3 o AYEEeE gem 0 |
(B) ‘wfediE qiifed as cagfaey Foaee waHl 5 |

(C) ‘54 dieical 9194 ¥ €91 9 §fd AP WgHT §4: |

(D) e gERfEE A aE 3 FeEEEeE e 5 |

(B) “Fi=die qiifed @ cayfesy sft Ieeesdes uam o= |

Hafeay I o -

(1) (&), (B) %W, (2 (B). (C) Faem,
(3)  (C), (D) %ae, (4) (D), (E) Faem
Options :

92090630717. 1



92090630718. 2
92090630719. 3
92090630720. 4

Question Number : 81 Question Id : 9209067770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefafaa st 5f= -
(A)  \WEEHE ATHEHN: ATEE: T 51 |
(B) HMdeH WIS AIEE: JeE: i |
(C) WIS SIEN: ATEME: AT9E: 516 |
D)  HwEEE TSR - U S

(E) dWaeeg AR A=E: JE0: HiE |

HafET I e -

(1) (A), (B) oW, (2) (B), (C) FaeH
(3)  (C), (D) Fa=m (4) (D), (E) saem
Options :

92090630721. 1
92090630722. 2
92090630723. 3
92090630724. 4

Question Number : 81 Question Id : 9209067770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frefafaai= stwwaiy 5f -

(A)  HHEEH WSS ATEE: FEE 5710 |
(B) OMEEs 9SS AEHE: 352 A5 |
(C) \WdeH ATSHHL: ATEE: 6T A= |
(D)  \HEEH AT A=A e H7iE |
(E) HMaeH aISIEN: A= JEv: 51 |

g vt o -

(1) (A), (B) %W, (2) (B), (C) FawH
(3)  (C). (D) Faem (4) (D), (E) Haem
Options :

92090630721. 1
92090630722. 2
92090630723. 3
92090630724. 4

Question Number : 81 Question Id : 9209067770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefafaaia st 5f= -
(A)  HHEEE ATHEHA: AEE: FEE: A= |
(B) HMdeH AT ATEE: Iee: i |
(C) OH—gEs 9IS AEE: grag: 3175 |
(D)  HAEEE ATHHA: A orae]: #E= |
(E) SV 9T AEE: JE0: A5 |

THfaaq I A -
(1) (A), (B) Faem, (2) (B), (C) Faem
(3)  (C), (D) a9 (4) (D), (E) Faem

Options :



92090630721. 1
92090630722. 2
92090630723. 3
92090630724. 4

Question Number : 82 Question Id : 9209067771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: HYAZE faEd)

U 1: WG FATEANE: HHEE: 10 |
F I1: = TE: FTETHSERR A1 |
IFFHYgAEA 3l gy fawery aqfaag faa -

(1)  Fg79 [ v FHg7 [ 399 JafE)
(2) w9 1 vE FEAY (1 399 FEEE)|
(3)  wuAq I HewfE, e %999 11 seemt)
(4)  wuA 1 sHeanied, T w99 11 gemf)

Options :

92090630725. 1
92090630726. 2
92090630727. 3
92090630728. 4

Question Number : 82 Question Id : 9209067771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AY: FHUAgd faEd)
HUT 1:  H=E: FAMEE: diEE: 310 |

w9 I1: = JE: FTEHTSEESR A1 |
IFFH Al gy fashedy AqfaaE = -
(1)  uW [ vd Ha [ 398y JeafEl
(2)  wg [ v FEH [ 39EY SFEEmE|
(3) =AY 1 wentE, e S 11 seemie)
(4)  wuA 1 i, T Faaq 11 gemfE)
Options :
92090630725. 1
92090630726. 2

92090630727. 3
92090630728. 4

Question Number : 82 Question Id : 9209067771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: HYAZE faEd)

EoEL m:m:m:ﬂ%l

FYAH 11 : =W HE: FTETHSER] 17 |
IR Sl gay famery s fad -

(1)  Fg79 [ v FHg7 [ 399 JafE)
(2)  wg [ v FE 11 3=y SFEEE|
(3)  wuAq I HewfE, e %999 11 seemt)
(4)  wuA 1 sHeanied, T w99 11 gemf)
Options :
92090630725. 1
92090630726. 2

92090630727 3
92090630728. 4



Question Number : 83 Question Id : 9209067772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
#9: Fagd Fed|

Y 1 HYETEHERY AUEE 9 EE |

FHUA 11 :  AYETEHER 9e: 95w |
IFH A Al gy fasedy A = -

(1) == 1 vd FHgay 1 399 daate|
(2)  HH 1 vE FHEH 11 IAFH FEEHE=|
(3) =gy 1 wemfE, e S 1 st
(4)  wuA I e, T Sy 11 9emt)
Options :
92090630729. 1
92090630730. 2

92090630731. 3
92090630732. 4

Question Number : 83 Question Id : 9209067772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: FYAZE faEd)

FY [:  AIHURHARY SR A d9e |
HYA 11:  AIEUEHAR 92 9giaY: |
ITFFHYEA A i gy fawery aqfaag A -

(1)  wg [ v wgq 1 2way aeafE)
(2)  wu [ vE Fu 11 3=y SFEeEwE|
(3) =y 1 wenfe, e w9 11 seemt)
(4) =AY I s, feeq sy 11 et

Options :



92090630729. 1
92090630730. 2
92090630731. 3
92090630732. 4

Question Number : 83 Question Id : 9209067772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: FEAE faed|

FUH 1:  HIRURHERY HENd G d9g |

FYA 11 : HIHUEHAR 9% 9Efad: |
ITFHIAGARI A Wl goy fashedy AgfaagT =9 -

(1) ey I ud w11 3w et

(2)  wua 1 wE Fue 11 399Y FEEE|

(3) o | wemfe, T Fe 11 sEemf)
(4)  FuAH 1 HeEnE, 6 F9 11 9wl

Options :

92090630729. 1
92090630730. 2
92090630731. 3
92090630732. 4

Question Number : 84 Question Id : 9209067773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HYAg faEd |

FUAY 1 HOETRIUHER - [ TR aeEaErs: |
Fo 11 : ALHTEHAR - 59 Hads a9 e |
ITYFTRYAEAN AT 39T gy faheay i foga -

(1) %9 1 T8 Hgaq 11 3989 aegafe|
(2)  HYAq 1 vd FHEA 11 390 SEEe|
(3) o 1 FeanE, & F990 11 sEaEmEE)
(4) gAY 1 s, e Fy 1 et
Options :
92090630733. 1
92090630734. 2

92090630735. 3
92090630736. 4

Question Number : 84 Question Id : 9209067773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: wYAgE faEd |

FEH [ AIETEEYEAN - T TR aeEngee: |
FU 11 ;. ALHTEHER - e fads e ey |
IHERAgAN A W4 gy ey sfaar faa -

(1) =999 1 78 FgH 11 3999 Fanfa|
(2)  wYAY 1 ud Fga 11 390 SEEu|
(3)  wuAq | FenfE, e %9 11 sEem)
(4)  wZAY 1 sHeawtE, T Ha 11 )
Options :
92090630733. 1
92090630734. 2

92090630735. 3
92090630736. 4



Question Number : 84 Question Id : 9209067773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AY: HYAgd e |

FU [ ALETERIHAN - T TSR aEEaeaTe: |
FUA 11 AIEUEER - e fedes e e |

(1) =29 1 w6 F9q 11 399 st

(2) A 1T HeH 11 39 SEeie|

(3)  wuAq | HeaufE, e %9 11 sEemtE)
(4)  wFAN 1 e, g S 11 )

Options :

92090630733. 1
92090630734. 2
92090630735. 3
92090630736. 4

Question Number : 85 Question Id : 9209067774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Agifcfigar sfuswma |-
(A) TeETeE e geamanE 5 )
(B) T ygaEfEEmm: |4 )
(C) T it wgemara |t
(D) e SR dEEER: |1 |
(E) e i |

wqfaay 37 fo9a -
(1) (A), (B) F=am (2) (B), (C) Faeq

(B (C), (D) FFeH (4) (D). (E)Fa=q

5]



Options :

92090630737. 1
92090630738. 2
92090630739. 3
92090630740. 4

Question Number : 85 Question Id : 9209067774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
seifafami sty =2f=-
(A)  TreETEE S gEamanE w0
(B) e sevEfEsn: |+ )
(C)  Trameme Hif ggaman- |t |
(D) T TE wEfEE: 85
(E)  Treamame & |@f |

Hxf=ay I oA -

(1) (A), (B)Faem (2) (B), (C) %A=
(3 (C), (D) Faeq (4) (D). (E) Fa=q
Options :

92090630737. 1
92090630738. 2
92090630739. 3
92090630740. 4

Question Number : 85 Question Id : 9209067774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



seifafamt sfia af=-

(A)  TrewemE gt weay 8=
(B) TreamemE wguEfasn: | )
(C) T Sifvr wgamaty a0

(D) s 3= aEfEsn: 3=

(E)y  Toamesms ai: g

e A -
(1)  (A), (B) Faaq,

(3  (C), (D) FaTq

Options :

92090630737. 1
92090630738. 2
92090630739. 3
92090630740. 4

(2) (B), (C) Fa=q
(4) (D), (E) FaeH

]

Question Number : 86 Question Id : 9209067775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Agifefigm Al wf=-

(A)  AEYEEE FmE

(B) wgfag feem
(C)  H=EWgHETE AW |
(D)  9afag e |
(E) e =sm=ad |
wfm 3w oA -

(1) (A), (B) Faem,
(3) (C), (D) FaeHq

Options :

(2) (B), (C) Fa=m
(4) (D), (E) Faem



92090630741. 1
92090630742. 2
92090630743. 3
92090630744. 4

Question Number : 86 Question Id : 9209067775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et wfasaf a5f=-

(A)  WTENHEIE A |

(B)  wefad fesm |

(C)  H=E9IETH AW |

(D)  vafag e |

(E) Toa =& |

(1) (A), (B) %aem (2) (B), (C) Fa=m

(3 (). (D) Faem (4) (D), (E) aem
Options :

92090630741. 1
92090630742. 2
92090630743. 3
92090630744. 4

Question Number : 86 Question Id : 9209067775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FgfefEa st af=-

(A)  HENEETE AW |

(B)  wefad foeeam |

(C)  H=EWgEIE AW |

(D)  wafay feem |

(E)y e =sm=ad |

s, 3w g -

(1) (A), (B) F=em (2) (B). (C) Fawm

(3)  (C), (D) Faem (4) (D), (E) %=/
Options :

92090630741. 1
92090630742. 2
92090630743. 3
92090630744. 4

Question Number : 87 Question Id : 9209067776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SeifeEty SR wf=-
(A)  FEMEHTEA IR T 79 |
(B)  gEfuEgAt IeavwEm afofa: st
(C)  IeToarT WIZTenTE wafd |
(D) I FIAHIE Foae: |
(E)  Ieeiuail SigHgms 3 e |

waf I o -
(1) (A). (C) Fae (2) (B), (C) %a=m
(3 (B, (D) *a=m (4) (D), (E) Fa=q

Options :



92090630745. 1
92090630746. 2
92090630747. 3
92090630748. 4

Question Number : 87 Question Id : 9209067776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FuffefiEa wfuwgay wf=-
(&)  gEfeETg sty g |
(B)  gaEuHogd Iwetwar aftfa: w1 |
(C)  IEERTIERT WIZ9ERTH S |
(D) I FIAHIE Foa: |

(B)  Ioiwan WiggedTd F Heed: |

aafa 3 faga -

(1) (A), (C) %=, (2) (B), (C) Fa=m
(3)  (B). (D) FaeH (4) (D), (E) ==eq
Options :

92090630745. 1
92090630746. 2
92090630747. 3
92090630748. 4

Question Number : 87 Question Id : 9209067776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AifafEm A Jf-

(&)  gEIfuATE IeavwET 4 g7 |
(B)  HaEiegdt Iemiwan afvia: 3 |
(C)  IiwarT WigaeH™ wafd |

(D) oA HIdHAE FHoed: |

(E)  Ieenisam ¥igE9esTd 3 e |

=T I A -

(1) (A), (C) Faem (2)  (B), (C) Fawm

{:3) (B), (I) q-Tchl'l{ 4 (D, (E}ﬁ-ﬁlﬂq
Options :

92090630745. 1
92090630746. 2
92090630747. 3
92090630748. 4

Question Number : 88 Question Id : 9209067777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 FHogd T

FAH 1:  HEEHEETH 979 oy 9= fafeaate |
Y 11 :  WEEEETH mefHaamam ar foafaa |

ST S Ty ey A e -

(1) %99 1 v 99 11 39a9 Aeauia|

(2)  wgA 1 vd FgAq 11 3999 FamE |

(3) w1 Fwfe, & Fean 11 seemtE)

(4)  ®uAq 1 wHeanie, e F99 11 3wt
Options :

92090630749. 1
92090630750. 2



92090630751. 3
92090630752. 4

Question Number : 88 Question Id : 9209067777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: HYAgA faed|

FUH 1:  HEEEEE 94y 90y w9 fofaaate |
FU 11 FEEEETA mefHEamEm ar foafaa |
ITFFHUAGAN A Al gy faery wfaag o -

(1) 99 1 vd FHgaq 11 399 aeaie|
(2)  wuEY 1 v FEE 11 3vEy SEeEE|
(3)  ®uAq 1 Fewfe, e w9y 11 sEemi)
(4)  ®uAq 1 wHeanie, o S99 11 gemf)

Options :

92090630749. 1
92090630750. 2
92090630751. 3
92090630752. 4

Question Number : 88 Question Id : 9209067777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A9 FYAgd fagd|
FUH 1:  HEEEEE 94y 90y w9 fofaaate |
Y 11:  HEEEETH mefaaemam arg fofaa |

T S0 78 e e e -

(1) =9 1 vd Fgaq 1 39EH gefe|
(2)  wuEY 1 v FEE 11 3vEy SEeEE|
(3)  ®uAq 1 Fewfe, e w9y 11 sEemi)
(4)  ®uAq 1 wHeanie, o S99 11 gemf)
Options :
92090630749. 1
92090630750. 2

92090630751. 3
92090630752. 4

Question Number : 89 Question Id : 9209067778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RY: FHuAgd e |

FUH 1 ARSI SrErasTmui qrsd fofey |
HU 11: BISFE=TE AHdc] HEguie |

SRR S Ty faely SRR R -

(1) oAy 1 v sy 11 3vay demfE|
(2)  wuW 1 vE Faeq 11 39EY sEoeadte |
(3)  wu | wemfe, e Fgam 1] smemt)
(4)  wEq 1 wHcane, [ w11 Femte)
Options :
92090630753. 1
92090630754. 2

92090630755. 3
92090630756. 4



Question Number : 89 Question Id : 9209067778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: Fugd |

HEA 1 :  AEEIEAE Srerasmi e fefgey )
w9 11 : SIEraseEy aWae] FEanie |

IR YA A4l gy faery s e -
()  wa 1 vd %o 1 3wEy soafE)

(2)  wum [ vE Fa 11 399y st |

(3) g 1 wemfe, g Feam 1 swemtE)

(4) =YY 1 wEeawiE, e Sy 11 HemtE)
Options :

92090630753. 1

92090630754. 2

92090630755. 3
92090630756. 4

Question Number : 89 Question Id : 9209067778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RY: F4gd [Fad|

HEAY 1 AR BErasmoi 7 feifEay |
FUA 11 :  BIFAsTEr] AWEe aragae |
I FIH AT gl gy faedy AaaaE = -
(1) w1 vg Fuan 11 3way gemfeE|
(2)  HgAq 1 U9 HY 11 3999 AEEaiE|

(3)  wu | wemtE, e S 1 smemtE)
(4) YA 1 wHeniE, e wya 11 HemtE)

Options :
92090630753. 1



92090630754. 2
92090630755. 3
92090630756. 4

Question Number : 90 Question Id : 9209067779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEH Fod -

=1 Ecillll
(A) IETAAE: (I) Teeroasy |
(B) HTEE: (IT)  FTETITRvEHH |
(C) FoEIHe: (III) TETHR - AT |
(D) =g (IV) e - ArEEsy |
wfe I foa -

(1) (A)-(ID, (B)-(ITI), (C)-(IV). (D)-(T)
(2) (A, (B)-(ITT), (C)-(IV), (D)-(IT)
(3) (A)-(T), (B)-(II), (C)-(III), (D)-(IV)
(4 (A)-(ID, (B)-(I), (C)-(I11), (D)-(IV)

Options :

92090630757. 1
92090630758. 2
92090630759. 3
92090630760. 4

Question Number : 90 Question Id : 9209067779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEH FHd -

= 1 T 11
(A) IEAEAAE: (I) FeEervasy |
(B) ®WEE: (IT)  STFTEARTEHH |
(C) FoEde: (III) FAAHR - TAVTHA |
(D) e (IV) #mfia - Sy |
st foe -

(1) (A)-(IT), (B)-(I1I), (C)-(IV), (D)-(I)
(2) (A, (B)-(IIL), (C)-(IV), (D)-(ID)
(3) (A)-(T), (B)-(II), (C)-(IIT), (D)-(TV)
(4)  (A)-(ID), (B)-(I), (C)-(I1T), (D)-(IV)

Options :

92090630757. 1
92090630758. 2
92090630759. 3
92090630760. 4

Question Number : 90 Question Id : 9209067779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEH FHd -

= 1 T 11
(A) IEAEAAE: (I) FeEervasy |
(B) ®WEE: (IT)  STFTEARTEHH |
(C) FoEde: (III) FAAHR - TAVTHA |
(D) e (IV) #mfia - Sy |
st foe -

(1) (A)-(IT), (B)-(I1I), (C)-(IV), (D)-(I)
(2) (A, (B)-(IIL), (C)-(IV), (D)-(ID)
(3) (A)-(T), (B)-(II), (C)-(IIT), (D)-(TV)
(4)  (A)-(ID), (B)-(I), (C)-(I1T), (D)-(IV)

Options :

92090630757. 1
92090630758. 2
92090630759. 3
92090630760. 4

Question Number : 91 Question Id : 9209067780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e F5d -

7 1 T 11
(A) HHEE: | () wv=em |
(B) Foae: | (I |
©) =1 (II1) H=H |
(D) =T | (IV) =T |
Fafam 3 foa -

(1)  (A)-(ID), (B)-(D. (C)-(IV), (D)-(11T)
(2 (A)-D, (B)-II), (C)-(11T), (D)-(IV)
(3) (A1), (B)(IT), (C)-(IV), (D)-(D)
(4) (A)-(IV), (B)-(I1D), (C)-(11I), (D)-(I)

Options :

92090630761. 1
92090630762. 2
92090630763. 3
92090630764. 4

Question Number : 91 Question Id : 9209067780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e F5d -

7 1 T 11
(A) HHEE: | () wv=em |
(B) Foae: | (I |
©) =1 (II1) H=H |
(D) =T | (IV) =T |
Fafam 3 foa -

(1)  (A)-(ID), (B)-(D. (C)-(IV), (D)-(11T)
(2 (A)-D, (B)-II), (C)-(11T), (D)-(IV)
(3) (A1), (B)(IT), (C)-(IV), (D)-(D)
(4) (A)-(IV), (B)-(I1D), (C)-(11I), (D)-(I)

Options :

92090630761. 1
92090630762. 2
92090630763. 3
92090630764. 4

Question Number : 91 Question Id : 9209067780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e F5d -

7 1 T 11
(A) HHEE: | () wv=em |
(B) Foae: | (I |
©) =1 (II1) H=H |
(D) =T | (IV) =T |
Fafam 3 foa -

(1)  (A)-(ID), (B)-(D. (C)-(IV), (D)-(11T)
(2 (A)-D, (B)-II), (C)-(11T), (D)-(IV)
(3) (A1), (B)(IT), (C)-(IV), (D)-(D)
(4) (A)-(IV), (B)-(I1D), (C)-(11I), (D)-(I)

Options :

92090630761. 1
92090630762. 2
92090630763. 3
92090630764. 4

Question Number : 92 Question Id : 9209067781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEH o4 -

= 1 il
(4) w9 | (D e
(B) wifaee | (I) =%: |
(C) Tiesay (IIT) =T |
(D) forem (V) &=t |
e i o -

(1) (A1), (B)-(I1I), (C)-(T), (D)-(IV)
(2)  (A)-ID), (B)-(ID), (C)-(IV), (D)-(T)
(3)  (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)
(4) (A, (B)-(D), (C)-(III), (D)-(IV)

Options :

92090630765. 1
92090630766. 2
92090630767. 3
92090630768. 4

Question Number : 92 Question Id : 9209067781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEH Fo54 -

=1 g 11
(A) wel:| (I) =&
(B) =wfeey | (I =4: |
(C) Trem (IIT) =TT |
(D) faen (IV) ==t
gfaes 3w oA -

(1) (A)-D), (B)-(IID), (C)-(T), (D)-(IV)
(2)  (A)-ID), (B)-(ID), (C)-(IV), (D)-(T)
(3)  (A)-IV), (B)-(I), (C)-(I), (D)-(I1T)
(4) (A, (B)-(ID), (C)-(IIT), (D)-(IV)



Options :

92090630765. 1
92090630766. 2
92090630767. 3
92090630768. 4

Question Number : 92 Question Id : 9209067781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 Fod -

HH1 1 T 11
(A) eU: | () =Eq|
(B) =wifoes (I =4: 1|
(C) Ty (IIT) &7 |
(D) o (IV) ==
e I oA -

(1) (A)-(IT), (B)-(111), (C)-(I), (D)-(IV)
(2)  (A)-(ID), (B)-(ID), (C)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(I), (C)-(I), (D)-(I1T)
(4) (A)-(D), (B)-(II), (C)~(I1I), (D)-(IV)

Options :

92090630765. 1
92090630766. 2
92090630767. 3
92090630768. 4

Question Number : 93 Question Id : 9209067782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A)
(B)
(C)
(D)

wfer i g -

(1)
(2)
(3)
(4)

(A)-(D), (B)-(II), (C)-(I1D), (D)-(IV)
(A)-(IV), (B)-(I11), (C)~(II), (D)-(T)
(A)-(TV), (B)-(II), (C)-(ILI), (D)-(T)
(A)-(T), (B)-(I1), (C)-(IV), (D)-(11T)

Options :

92090630769. 1
92090630770. 2
92090630771. 3
92090630772. 4

g 11
() wreAfeATmE |
(I1) AT |
(IIT) SieReTraT |
(IV) =HiTgerema |

Question Number : 93 Question Id : 9209067782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e F5d -

(A)
(B)
(©
(D)

= 1
FIEIS: |
AYEE: |
HHEE: |
YT |

wafer 3w g -

(1)
(2)
(3)
(4)

(A)-(T), (B)-(II), (C}-(I1D), (D)-(IV)
(A)-(IV), (B)-(I11), (C)-(ID), (D)-(T)
(A)-(TV), (B)-(II), (C)-(III), (D)-(T)
(A)-(I), (B)-(IT), (C)-(IV), (D)-(I1T)

I
()  mreafzAemE |
(1) e |
(IIT) SR |
(IV) =iTgerema |



Options :

92090630769. 1
92090630770. 2
92090630771. 3
92090630772. 4

Question Number : 93 Question Id : 9209067782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeH F5d -

T T 11
(A) FIEIEE: | ()  wTeEf-Zeme |
(B) HUEEE; | (1) A
(C) HTEE: | (I11) T |
(D) IEEEEE: | (IV) =iEermE |
e ¥ o -

(1) (A)-(I), (B)-(I1), (C)-(I1I), (D)-(IV)
(2) (A)-(IV), (B)-(I1T), (C)-(11), (D)-(I)
{3 (A)-(IV), (B)-(I1), (C)-(III), (D)-(D
(4) (A, (B)-(II), (C)-(IV), (D)~(I1T)

Options :

92090630769. 1
92090630770. 2
92090630771. 3
92090630772. 4

Question Number : 94 Question Id : 9209067783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH F6d -

1 T 11
(A) FEE: () T |
(B) HmEE: (IT)  STaTsTEv |
(C) Foe: (IT) ATEARTEVH |
(D) Hg=Ee: (IV) UFREsTa |
FfaTy  foa -

(1) (A)-(I10), (B)-(T), (C)-(IV), (D)-(IT)
(2) (A)-(1I), (B)-(111), (C)-(IV), (D)-(I)
(3 (A)-(IID), (B)-(IV), (C)-(1), (D)-(1T)
(4) (A)-(IV), (B)-(11I), (C)-(11), (I)-(I)

Options :

92090630773. 1
92090630774. 2
92090630775. 3
92090630776. 4

Question Number : 94 Question Id : 9209067783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH F6d -

1 T 11
(A) FEE: () T |
(B) HmEE: (IT)  STaTsTEv |
(C) Foe: (IT) ATEARTEVH |
(D) Hg=Ee: (IV) UFREsTa |
FfaTy  foa -

(1) (A)-(I10), (B)-(T), (C)-(IV), (D)-(IT)
(2) (A)-(1I), (B)-(111), (C)-(IV), (D)-(I)
(3 (A)-(IID), (B)-(IV), (C)-(1), (D)-(1T)
(4) (A)-(IV), (B)-(11I), (C)-(11), (I)-(I)

Options :

92090630773. 1
92090630774. 2
92090630775. 3
92090630776. 4

Question Number : 94 Question Id : 9209067783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH F6d -

1 T 11
(A) FFHE: () T |
(B) ®meRg; (IT)  STATsTEvm |
(C) e (ITI) FTogFETEH |
(D) 3AeEee: (IV) TALEsTE |
g 3w fo -

(1) (A)-(111), (B)-(I), (C)-(IV), (D)-(1I)
(2)  (A)-(ID, (B)-(IID), (C)-(IV), (D)-(I)
(3 (A, (B)-IV), (C)-(I), (D)-(II)
(1) (A)-(IV), (B)-(I1I), (C)~(1T), (D)-(T)

Options :

92090630773. 1
92090630774. 2
92090630775. 3
92090630776. 4

Question Number : 95 Question Id : 9209067784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"o 5 -

= 1 T4 11
(A) wmEeE: | (1)  wTgehitare |
(B) wuEag: | (I) ArgrafaE |
(C) ForEde: | (I11) ATsrarearaiere |
(D) YEEETAE: | (IV) Tt |
wufaam 3w faga -

(1) (A)-(I). (B)-(II), (C)-(IV), (D)-(I1I)
(2)  (A)-ID, (B)-(I), (C)-(IV), (D)-(11T)
(3)  (A)-IV), (B)-(D), (C)-(110), (D)-(1D)
(4)  (A)»(IV), (B)-(D), (C)-(1I), (D)-(I11T)



Options :

92090630777. 1
92090630778. 2
92090630779. 3
92090630780. 4

Question Number : 95 Question Id : 9209067784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U -

= 1 = 11
(A) HWHEE: | (D)  wrogshife |
(B) HuEEE: | (IT) Frratse |
(C) ForEgda: | (I11) TS |
(D) YFEEAEE: | (IV) STgT=Ea |
Ty 9 o -

(1) (A)-(I). (B)-(II), (C)-(IV), (D)-(11T)
(2) (A)-(1I), (B)-(I), (C)-(IV), (D)-(11T)
(3) (A)-(IV). (B)-(I), (C)-(I1I), (D)-(1I)
(4) (A)-(IV), (B)-(1), (C)-(1L), (D)-(I1I)

Options :

92090630777. 1
92090630778. 2
92090630779. 3
92090630780. 4

Question Number : 95 Question Id : 9209067784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 T 11
(A) HEE: | () gt |
(B) ¥y=Eg: | (I)  rgrafae |
(C) ForEde: | (I11) ATsiaeaaiare |
(D) YEFETAE: | (IV) Sgr=tsen |
s . g -

(1) (A)(D. (B)-(II), (C)-(IV), (D)-(I1T)
(2 (A1), B)-(I), (C)-(IV), (D)-(I1T)
(3 (A)-IV), B)-D), (O)-(I1I), (D-(1T)
(4)  (A)-(IV), (B)-(D), (C)-(ID), (D)-(IIT)

Options :

92090630777. 1
92090630778. 2
92090630779. 3
92090630780. 4

Question Number : 96 Question Id : 9209067785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 54 -

LR = 11
(A) FEe:| M ==
(B) ®mwEE:| (I e |
(C) ¥qFe: | (IIT)  =AT&: |
(D) e | (V) T: |
T I o -

(1)  (A)-ID, (B)-(IID), (C)-(IV), (D)-(T)
(2) (A, (B)-D), (C)-(IV), (D)-(@)
(3 (A)-(I), (B)-(IT), (C)-(IV), (D)-(11I)
(4)  (A)M(D, (B)-(ILI), (C)-(II), (D)-(IV)



Options :

92090630781. 1
92090630782. 2
92090630783. 3
92090630784. 4

Question Number : 96 Question Id : 9209067785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeH o4 -

e = 11
(A) qaaﬁ:l (1) - |
(B) HmaE:| I =
(C) I9ae: | (TIT)  =ATE: |
() aq?lé_‘;ﬁzl (TV) ;|
Ty I foa -

(1) (A)-(I), (B)-(I1D), (C)-(IV), (D)-(I)
(2)  (A)-(ID, (B)-(II), (C)-(IV), (D)-(T)
(3 (A)-(I), (B)-(11), (C)-(IV), (D}-(11I)
(4) (A)-(I), (B)-(ILT), (C)-(1L), (D)-(IV})

Options :

92090630781. 1
92090630782. 2
92090630783. 3
92090630784. 4

Question Number : 96 Question Id : 9209067785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH o4 -

T 1 T 11
(A) FEe:| (I  #E:
(B) ®mEE:| (am &
(C) =gEe: | (TITy  =F&: |
(D) o | V) : |
Tufer 3w fa -

(1) (A)-D, (B)-(III), (C)-(IV), (D)-(T)
(2) (A, (B)-(1D), (C)-(IV), (D)-(D)
(3 (A)-(I), (B)-(IT), (C)-(IV), (D)-(11I)
(4)  (A)-(D), (B)-(ILI), (C)-(II), (D)-(IV)

Options :

92090630781. 1
92090630782. 2
92090630783. 3
92090630784. 4

Question Number : 97 Question Id : 9209067786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Fhd -

=1 11
(A) TWEE: | () &I
(B) F@ae:| (I wed: |
(C) e | (I1T) & |
(D) F¥EEE: (IV) I |
Hfeay I oA -

(1) (A)(IV), (B)-(IIL), (C)-(II), (D)-(I)
2y (A-D). (B)-AID), (C)-1T), (D)-(IV)
(3 (A)-(IV), (B)-(II). (C)-(I). (D)-(1IT)
(4) (A, (B)-(I), (C)-(IV), (D)-(IIT)



Options :

92090630785. 1
92090630786. 2
92090630787. 3
92090630788. 4

Question Number : 97 Question Id : 9209067786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Foa -

T gt 11
(A) T | () =&
(B) F4E:| (I 3ed: |
(C) aFe: | (I1T) & |
(D) H¥EdeE: (IV) 3 |
Anfaay 3w = -

(1) (A)-(IV), (B)-(I1T), (C)-(II), (I)-(I)
(2) (A)-(I), (B)-(III), (C)-AD), (D}-(IV)
(3 (A)-(TV), (B)-(I1), (C)-(T), (D)-(I1T)
(4) (A)-(T). (B)-(II). (C)-(IV), (D)-(I1T)

Options :

92090630785. 1
92090630786. 2
92090630787. 3
92090630788. 4

Question Number : 97 Question Id : 9209067786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH F0a -

HqH 1 H 11
(A) FWERE: | (I |
(B) e (I 37=d: |
(C) I9g: | (ITT) & |
(D) Ydde: (IV) g |
Ffaa 3w o -

(1) (AIV), (B)-(ID), (C)-(1D), (D)-(T)
(2)  (A)-D). (B)-1ID), (C)-(11), (D)-(IV)
(3 (A)-IV), (B)-(ID), (C)-(I), (D)-(IIT)
(4)  (A)-D). (B)-AD. (C)-(IV), (D)-(IIT)

Options :

92090630785. 1
92090630786. 2
92090630787. 3
92090630788. 4

Question Number : 98 Question Id : 9209067787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4 -

= T 11
(A) aTSEATETERE | () =Ee: |
(B) oo~ | (I) FFgae: |
(C) = SaeeTae | (1) ==g: |
(D) FepuTioerEy | (IV) 3g=de: |
gfam 3w o -

(1) (A, (B)-(II), (C)-(11I), (D)-(IV)
(2)  (A)»(IV), (B)-(I1I), (C)-(11), (D)-0)
(3)  (AMID, (B)-(I). (C)-(IV). (D)-(11I)
4 (A)-(D, (B)-I). (C)-(11T), (D)-(IV)



Options :

92090630789. 1
92090630790. 2
92090630791. 3
92090630792. 4

Question Number : 98 Question Id : 9209067787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o oA -

HqH 1 T 11
(A)  SrsEAEfaERE | (I) HWEeE: |
(B)  qorHE-mTfeeRE | (1) IFeETae: |
(C) = ST | (III) F548: |
(D) FEpuTioeREy | (IV) Hg=ag: |
wqfaTy 3w faqa -

(1) (A)-(I), (B)-(IT), (C)-(I1I}), (D)-(IV)
(2) (A)-(IV), (B)-(I1I), (C)-(II), (D)-(D)
{3 (A)-(11), (B)-(I), (C)-(IV), (D)-(11I)
(4)  (A)-(ID, (B)-(D). (C)-(IIT), (D)-(IV)

Options :

92090630789. 1
92090630790. 2
92090630791. 3
92090630792. 4

Question Number : 98 Question Id : 9209067787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH 94 -

! T 11
(&) AT | (I) |maE: |
(B)  qoa-wifererea | (II) YF=IIae: |
(C) YT SqeaTiae | (IIT) g |
(D) FewTicraTEa | (IV) e |
e . g -

(1) (A)-(I), (B)-(IT), (C)-(I1D), (D)-(IV)
(2) (A)-(IV), (B)-(I1I), (C)-(11), (D)-(T)
(3) (A)-(IT), (B)-(I). (C)-(IV), (D)-(111)
(4) (A)-(IT), (B)-(). (C)-(I1L), (D)-(IV)

Options :

92090630789. 1

92090630790. 2

92090630791. 3
92090630792. 4

Question Number : 99 Question Id : 9209067788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEH FH4 -

T =
(A) HEAEAHTTEY | () HAgdae= |
(B) ST | (I) IFEaIEe |
(C) damdtaEan| (IIT) FoTaEeH |
(D) St | (IV) #mEes |
e 39 forga -

(1) (A)-(D), (B)-(II), (C)-(I1I), (I)-(IV)
(2) (A)-(1II), (B)-(I1D), (C)-(1), (D)-(IV)
(3) (A)-(I1T), (B)-(IV), (C)-(D), (D)-(11)
(4) (A)-(IID), (B)-(ID), (C)-(T), (D)-(IV)

Options :



92090630793. 1
92090630794. 2
92090630795. 3
92090630796. 4

Question Number : 99 Question Id : 9209067788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 454 -

= =11
(A) THEEAEAHTEE | (I) gddeH |
(B) STEamEsaEd | (I1) YFadEeH |
(C) aamAdaEEy| (1) FoEEeH |
(D) ST | (IV) \HEeH |

(1) (A)-D), (B)-ID), (C)-(I1T), (D)-(IV)
(2) (A)-(II), (B)-(I1I), (C)-(I), (D)-(IV)
(3) (A)-(1ID), (B)-(IV), (C)-(I), (D)-(1T)
(4) (A)-(1I0), (B)-(ID), (C)-(1), (D)-(IV)

Options :

92090630793. 1
92090630794. 2
92090630795. 3
92090630796. 4

Question Number : 99 Question Id : 9209067788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH o4 -

T 1 T 11
(A)  HTAEAHEE | () wuddes |
(B) ST e | (1) IFEIEeH |
(C) FaA=aEaHI (I11) FoETEEHE |
(D) Sffitaes | (IV) HmaeH |
s o -

(1) (A)-(D), (B)-(ID). (C)-(I1I), (D)-(IV)
(2) (A)-(1II), (B)~(I1D), (C)-(1), (D)-(IV)
(3) (A)-(I1T), (B)-(IV), (C)-(I), (D)-(11)
(4) (A)-(IID), (B)-(ID), (C)-(T), (D)-(IV)

Options :

92090630793. 1
92090630794. 2
92090630795. 3
92090630796. 4

Question Number : 100 Question Id : 9209067789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4 -

= 1 = 11
(&) iR | 0  FOEIEIEHE |
(B) Tifierreaes | (1) FoaeE |
(C) FeANTETEaEEY | (III) ra=aes |
(D) HATEAEATEEHAY | (IV) HHEEH |
Hafea I faga -

(1) (A)-(110), (B)-(IV), (C)-(1), (D)-(I)

(2) (A)-(11), (B)-(111). (C)-(I), (D)-(IV)

(3) (A)-(IV), (B)-(I11), (C)-(1), (D)-(D)

(4) (A)-(I1T), (B)-(1D), (C)-(D), (D)-(IV)
Options :



92090630797. 1
92090630798. 2
92090630799. 3
92090630800. 4

Question Number : 100 Question Id : 9209067789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4 -

et ] T 11
(A) TR | () FoEIEeE |
(B) TiferTaasa | (I) =oEe= |
(C) FEMTZTEIEAY | (IIT) FAuE=e |
(D) FTFEAETEEEY | (IV) AWaeH |
wnfen I fora -

(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(1T)
(2)  (A)-(ID), (B)-(IIT), (C)-(T), (D)-(IV)
(3 (A)-(IV), (B)-(111), (C)-(1I), (D)-(I)
() (A)-(11I), (B)-(1T), (C)-(T}, (D)-(IV)

Options :

92090630797. 1

92090630798. 2

92090630799. 3
92090630800. 4

Question Number : 100 Question Id : 9209067789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeH F54 -

=

(A) TR |
(B) iferTaagEy |
(C) HeaTyTeT=aHam |
(D) FARETATETTEEHE |

g 3 o -
(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(IT)
(2) (A)-(1I), (B)-(I1), (C)-(D), (D)-(IV)
(3) (A)-(IV), (B)-(11I), (C)-(1D), (D)-(D)
(4) (A)-(IID). (B)-(1D), (C)-(1), (D)-(IV)
Options :

92090630797. 1
92090630798. 2
92090630799. 3
92090630800. 4

H= 11
(D FoEIEEHE |
(I)  Fod4ee |
(I1T) ZFIdaeH |
(IV) AH=EH |



